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#HEBREXR A

I & L | o Hl G B HE RETETE i
T I
vt T
HEH i) m3 474. 95 470
B LT
BRARE T W<1.0m m3 163.7 160
1. 0m=W<2. 5m m3 119.1 120
2. 5m=W<4. Om m3 0.0 0
| BEYLT EEETT
R m3 412.5 410
HEL m3 154. 8 150
i an m3 412.5 410
HEKT
AET UBL{AI;E 240 x 240 m 1.0 1
360 x 360 m 5.2 5
600 x 600 m 14.8 15
Al ZEHiE 400 x 400 m 8.0 8
400 x 500 m 59.0 59
400 x 600 m 19.5 20
KR ¢ 400 m 823.3 823
¢ 500 m 126. 8 121
UBMAIE S JL—F >4 300x300 m 73.0 73
SkmT £k #tA 600 x 600 x 700 517 2.0 2
S KHA 700 x 700 x 600 513l 1.0 1
&K HA 700 x 700 x 700 513l 8.0 8
S KHA 700 x 700 x 800 513l 2.0 2
&£ kB 600 x 600 x 700 513l 15.0 15
£ kB 700 x 700 x 800 513l 2.0 2
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wmx Q

T (] oAl #m 5] B BAfL & RETEHE ]
BHET
TAIZVMEREET

RET R—5 RAs (13) t=5cm m2 886. 8 890
EET FAIEAs (20) t=bcm m2 660. 6 660
LTEREET BEEEENE t=10cm m2 660. 6 660
TERET 259y v—5RC-40 t=32cm | m2 660. 6 660

a9 U—r—)LT
a2 U—k—)L t=10cm m2 1117.6 1,120

BT
BEL FAH—T FAI7hRIVHY-F m 950. 1 950
TLMEERT
BhEEMT H—EL—IIEEEIR Gr-A-4E m 225. 1 225
BEL
BEYERIELT

SHEYT t=20cm m 1101.0 1,100
SHERMREE L TA77)MRZE £=20cm m2 224.7 220
TFARAI7IL bEHM m3 44.9 45
BEYERIELT | oY U—FBRIEL (B8) m3 90.0 90
a9 ) —FEREERL (€::3:50) m3 4.8 5
JL—F U 5ERE " 156 156
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I & i Al BB --Eiv2 = i

fEEIT = 1

P En4E HI T8 m3 475.0

BtT = 1

R L W<1.0m m3 163.7

1.0m<W=2. 5m m3 119. 1

2.5m<W=4.0m m3 0.0

E¥2+T

PRIE m3 412.5

HBRL m3 154.8

%+ m3 412.5




TIEHES

B B =1 = B =
{EHIT
AEIYEHE! BERELS
+®| V= 1154 + 359.6 = 475.0 m3
B+T
IR L
W<1.0m| V= 163.7 = 163.7 m3
1.0m<W=2.5m| V= 119.1 = 119.1 m3

2.5m<W=4.0m[ V= 0.0 = 0.0 m3
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9 ey
wiEE [rowEd 8| wEe [Foser
NO. 56+ 12.500
NO. 57+ 0.000 7.500 0.6] 0.30 2.3
NO. 58+ 0.000 20. 000 0.2  0.40 8.0
NO. 59+ 0.000 20. 000 0.1] 015 3.0
NO. 60+ 0.000 20. 000 0.1l  0.10 2.0
NO. 61+ 0.000 20. 000 0.1l  0.10 2.0
NO. 62+ 0.000 20. 000 0.1l  0.10 2.0
NO. 63+ 0.000 20. 000 0.1l  0.10 2.0
NO. 63+ 4000 4.000 0.1l  0.10 0.4 63+00D I i i PR
NO. 75+ 18.100 0.1 76+00D I i AR
NO. 76+ 0.000 1.900 0.1l  0.10 0.2
NO. 77+ 0.000 20. 000 0.1l  0.10 2.0
NO. 77+ 13.000 13. 000 0.1l  0.10 1.3
NO. 78+ 0.000 7.000 0.1l  0.10 0.7
NO. 78+ 11.300 11.300 0.1]  o0.10 1.1 KA9—2
NO. 79+ 0.000 8.700 0.1]  o0.10 0.9
NO. 79+ 9. 500 9.500 0.1]  o0.10 1.0 7T9+00D I i AR
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i
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9 ey
wiEE [rowEd 8| wEe [Foser

NO. 81+ 19.500 82:+00D I i i FA
NO. 82+ 0.000 0. 500 0.00 0.0

NO. 83+ 0.000 20. 000 0.1 o0.05 1.0

NO. 83+ 17.000 17.000 0.1  0.10 1.7

NO. 84+ 0.000 3.000 0.1  0.10 0.3

NO. 85+ 0.000 20. 000 0.05 1.0

NO. 85+ 0.200 0. 200 0.00 0.0 KA1O-1

NO. 86+ 0.000 19. 800 0.00 0.0

NO. 87+ 0.000 20. 000 0.00 0.0

NO. 88+ 0.000 20. 000 0.1 0.0 1.0

NO. 89+ 0.000 20. 000 0.1l  0.10 2.0

NO. 90+ 0.000 20. 000 0.1l  0.10 2.0

NO. 90+ 0.200 0. 200 0.1l  0.10 0.0 KE10-1

NO. 91+ 0.000 19. 800 0.1l  0.10 2.0

NO. 92+ 0.000 20. 000 0.1l  0.10 2.0

NO. 93+ 0.000 20. 000 0.1l  0.10 2.0

NO. 94+ 0.000 20. 000 0.05 1.0

NO. 95+ 0.000 20. 000 0.1] 0.0 1.0

NO. 96+ 0.000 20. 000 0.05 1.0

NO. 97+ 0.000 20. 000 0.1 0.0 1.0

NO. 97+ 14.900 14.900 0.1l  0.10 1.5 KE10-2

NO. 98+ 0.000 5.100 0.05 0.3

NO. 99+ 0.000 20. 000 0.00 0.0

NO. 100+ 0.000 20. 000 0.00 0.0

NO. 101+ 0.000 20. 000 0.3 o015 3.0

NO. 102+ 0.000 20. 000 0.2 o0.25 5.0

NO. 102+ 8.000 8.000 0.3 o0.25 2.0

NO. 102+ 14.900 6.900 0.3 0.30 2.1 KALO-2

NO. 102+ 18.900 4.000 0.3 0.30 1.2 102+ 14. 9D IR A
NO. 124+ 3.300 0.1 125+00D 1 i e
NO. 125+ 0.000 16. 700 0.1l o0.10 1.7

NO. 126+ 0.000 20. 000 0.1]  o0.10 2.0

NO. 127+ 0.000 20. 000 0.1]  o0.10 2.0

NO. 128+ 0.000 20. 000 0.05 1.0

NO. 129+ 0.000 20. 000 0.00 0.0

NO. 129 + 10.500 10. 500 0.00 0.0

NO. 130+ 0.000 9.500 0.00 0.0

NO. 131+ 0.000 20. 000 0.1] o0.05 1.0

NO. 132+ 0.000 20. 000 0.1]  o0.10 2.0

NO. 132+ 6.500 6.500 0.1]  o0.10 0.7 132+00D 1 i e
NO. 137+ 16.600 0.1 138+0 0D 1 i e
NO. 138+ 0.000 3.400 0.1]  o0.10 0.3
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WiEE [rowEd £ 0 82| mEa EosEr £ 82
NO. 138+ 0.000 0.1
NO. 139+ 0.000 20. 000 0.1 0.10 2.0
NO. 140+ 0.000 20. 000 0.1 0.10 2.0
NO. 141+ 0.000 20. 000 0.1 0.10 2.0
NO. 142+ 0.000 20. 000 0.1 0.10 2.0
NO. 143+ 0.000 20. 000 0.1 0.10 2.0
NO. 144 + 0.000 20. 000 0.1 0.10 2.0
NO. 145+ 0.000 20. 000 0.1 0.10 2.0
NO. 145+ 12.000 12.000 0.1 0.10 1.2
NO. 146 + 0.000 8.000 0.1 0.10 0.8
NO. 146 + 14.700 14.700 0.05 0.7 KE11-2
NO. 147+ 0.000 5.300 0.00 0.0
NO. 148 + 0.000 20. 000 0.00 0.0
NO. 149 + 0.000 20. 000 0.1 0.05 1.0
NO. 149 + 18.700 18. 700 0.1 0.10 1.9 149+0 Wr i it FH
NO. 153+ 1.100 0.3 154+00 Wr i it A
NO. 154 + 0.000 18. 900 0.3 0.30 5.7
NO. 155+ 0.000 20. 000 0.3 0.30 6.0
NO. 156 + 0.000 20. 000 0.3 0.30 6.0
NO. 156 + 14.500 14. 500 0.3 0.30 4.4 156+0 0> Wr i it A
& B 1101.0 115. 4 0.0
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. W<1.0m 1.0m=W<25m 25m=W<4.0m

W [FomEE 2| WEE [FowEd T 8| WEE rosEr 8
NO. 56+ 12.500 0.2
NO. 57+ 0.000 7. 500 0.2 0.20 1.5 0. 00 0.0 0.00 0.0
NO. 58+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 59+ 0.000 20. 000 0.10 2.0 0.2 0.10 2.0 0.00 0.0
NO. 60+ 0.000 20. 000 0.2 0.10 2.0 0.10 2.0 0.00 0.0
NO. 61+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 62+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 63+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 63+ 4.000 4.000 0.2 0.20 0.8 0. 00 0.0 0.00 0. 0|63+00l i JH
NO. 75+ 18.100 0.2 76+0D W HT I
NO. 76+ 0.000 1.900 0.2 0.20 0.4 0. 00 0.0 0.00 0.0
NO. 77+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 77+ 13.000 13.000 0.2 0.20 2.6 0. 00 0.0 0.00 0.0
NO. 78+ 0.000 7. 000 0.2 0.20 1.4 0. 00 0.0 0.00 0.0
NO. 78+ 11.300 11.300 0.2 0.20 2.3 0. 00 0.0 0.00 0. 0|KA9-2
NO. 79+ 0.000 8.700 0.2 0.20 1.7 0. 00 0.0 0.00 0.0
NO. 79+ 9.500 9. 500 0.2 0.20 1.9 0. 00 0.0 0.00 0. 0|79+0 ol i JHi
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T 3 B #
B+ T
" . _— Bk T PRk T BRiARE T .
. W<1.0m 1.0m=W<25m 25m=W<4.0m

WEH [FamE 2| wEE [powEs] £ 82| wEE Fosa . 2
NO. 81+ 19.500 0.4 82+0 (DI s )
NO. 82+ 0.000 0. 500 0.4 0.40 0.2 0. 00 0.0 0.00 0.0
NO. 83+ 0.000 20. 000 0.2 0.30 6.0 0. 00 0.0 0.00 0.0
NO. 83+ 17.000 17.000 0.2 0.20 3.4 0. 00 0.0 0.00 0.0
NO. 84+ 0.000 3.000 0.2 0.20 0.6 0. 00 0.0 0.00 0.0
NO. 85+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 85+ 0.200 0.200 0.2 0.20 0.0 0. 00 0.0 0.00 0.0|KA10-1
NO. 86+ 0.000 19. 800 0.10 2.0 0.2 0.10 2.0 0.00 0.0
NO. 87+ 0.000 20. 000 0.2 0.10 2.0 0.10 2.0 0.00 0.0
NO. 88+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 89+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 90+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 90+ 0.200 0.200 0.2 0.20 0.0 0. 00 0.0 0.00 0.0|KE10-1
NO. 91+ 0.000 19. 800 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 92+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 93+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 94+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 95+ 0.000 20. 000 0.10 2.0 0.4 0.20 4.0 0.00 0.0
NO. 96+ 0.000 20. 000 0.00 0.0 0.5 0.45 9.0 0.00 0.0
NO. 97+ 0.000 20. 000 0.2 0.10 2.0 0.25 5.0 0.00 0.0
NO. 97+ 14.900 14.900 0.10 1.5 0.4 0.20 3.0 0.00 0.0]KE10-2
NO. 98+ 0.000 5.100 0.00 0.0 0.6 0. 50 2.5 0.00 0.0
NO. 99+ 0.000 20. 000 0.3 0.15 3.0 0. 30 6.0 0.00 0.0
NO. 100+ 0.000 20. 000 0.2 0.25 5.0 0. 00 0.0 0.00 0.0
NO. 101+ 0.000 20. 000 0.1 0.15 3.0 0. 00 0.0 0.00 0.0
NO. 102+ 0.000 20. 000 0.1 0.10 2.0 0. 00 0.0 0.00 0.0
NO. 102+ 8.000 8. 000 0.1 0.10 0.8 0. 00 0.0 0.00 0.0
NO. 102 + 14.900 6. 900 0.1 0.10 0.7 0. 00 0.0 0.00 0.0]KA10-2
NO. 102 + 18.900 4.000 0.1 0.10 0.4 0. 00 0.0 0.00 0. Qo2+ 140 9oms e
NO. 124+ 3.300 0.2 125+00D W7 37T
NO. 125+ 0.000 16. 700 0.2 0.20 3.3 0. 00 0.0 0.00 0.0
NO. 126 + 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 127 + 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 128 + 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 129 + 0.000 20. 000 0.10 2.0 1.1 0.55 11.0 0.00 0.0
NO. 129 + 10.500 10. 500 0.00 0.0 1.1 1.10 11.6 0.00 0.0
NO. 130+ 0.000 9. 500 0.00 0.0 1.0 1.05 10.0 0.00 0.0
NO. 131+ 0.000 20. 000 0.2 0.10 2.0 0.50 10.0 0.00 0.0
NO. 132+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 132+ 6.500 6. 500 0.2 0.20 1.3 0. 00 0.0 0.00 0. 0]132+000 i i

11



+ T EF B &
BT
) . _ BRARE T BRiARE T AT .
- - W<1.0m 1.0m=W<25m 25m=W<4.0m

MR [P & | wme [rowsar + 2| wEw rowed+ ®
NO. 137+ 16.600 0.2 138000 77 5161
NO. 138+ 0.000 3. 400 0.00 0.0 0.2 0.20 0.7 0.00 0.0
NO. 138+ 0.000 0.2
NO. 139+ 0.000 20. 000 0.2 0.10 2.0 0.10 2.0 0.00 0.0
NO. 140+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 141+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 142+ 0.000 20. 000 0.10 2.0 0.2 0.10 2.0 0.00 0.0
NO. 143+ 0.000 20. 000 0.00 0.0 0.2 0.20 4.0 0.00 0.0
NO. 144+ 0.000 20. 000 0.2 0.10 2.0 0.10 2.0 0.00 0.0
NO. 145+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 145+ 12.000 | 12.000 0.2 0.20 2.4 0. 00 0.0 0.00 0.0
NO. 146 + 0.000 8. 000 0.10 0.8 0.2 0.10 0.8 0.00 0.0
NO. 146+ 14.700 | 14.700 0.00 0.0 0.4 0.30 4.4 0.00 0.0[KE11-2
NO. 147+ 0.000 5. 300 0.00 0.0 0.5 0. 45 2.4 0.00 0.0
NO. 148+ 0.000 20. 000 0.00 0.0 0.5 0.50 10.0 0.00 0.0
NO. 149+ 0.000 20. 000 0.00 0.0 0.2 0.35 1.0 0.00 0.0
NO. 149+ 18.700 | 18.700 0.00 0.0 0.2 0.20 3.7 0.00 0. 014900 g e
NO. 153+ 1.100 0.2 15400 7T 316
NO. 154+ 0.000 18.900 0.2 0.20 3.8 0. 00 0.0 0.00 0.0
NO. 155+ 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 156 + 0.000 20. 000 0.2 0.20 4.0 0. 00 0.0 0.00 0.0
NO. 156 + 14.500 | 14.500 0.2 0.20 2.9 0. 00 0.0 0.00 0. 0|156+00> g e

& H 1101.0 163. 7 119. 1 0.0
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EELT

BAE (Inphi=Y) EHE

EET TR HE PR BR At PRYE BR Et

m3 m3 m3 m3 m3 m3
UBAIE 240 % 240 m 1.0 0.43 0.20 0.23 0.4 0.2 0.2
360 x 360 m 5.2 0. 63 0.27 0.36 3.3 1.4 1.9
600 % 600 m 14. 8 1.13 0.42 0.71 16. 7 6.2 10.5
Al ZEfAliE 400 x 600 = 1 [ 28.00 7.10 | 20.90 28.0 1.1 20.9
M KR ¢ 300 m 0.0 0.18 0.05 0.13 0.0 0.0 0.0
¢ 350 m 0.0 0.26 0.09 0.17 0.0 0.0 0.0
@ 400 m 823.3 0.32 0.12 0.20 | 263.5 98.8 | 164.7
¢ 500 m 126.8 0.51 0.19 0.32 64.7 24.1 40.6
S IKBEA 500 x 500 x 600 &R 0 0.48 0.24 0.24 0.0 0.0 0.0
S IKHEA 600 x 600 x 700 &R 2 0.78 0.40 0. 38 1.6 0.8 0.8
K BEA 700 x 700 x 600 PR 1 0.64 0.28 0. 36 0.6 0.3 0.4
S IKBA 700 x 700 x 700 PR 8 0.90 0.44 0. 46 1.2 3.5 3.7
S IKBEA 700 x 700 x 800 &R 2 1.16 0.60 0. 56 2.3 1.2 1.1
S IKHEA 800 x 800 x 900 &R 0 1. 60 0.80 0. 80 0.0 0.0 0.0
£ K #iB 500 x 500 x 600 PR 0 0.48 0.24 0.24 0.0 0.0 0.0
£ K #iB 600 x 600 x 700 PR 15 0.78 0.40 0.38 1.7 6.0 5.7
£ K #iB 700 x 700 x 800 &R 2 1.16 0.60 0. 56 2.3 1.2 1.1
£ K #iB 800 x 800 x 900 &R 0 1. 60 0.80 0. 80 0.0 0.0 0.0
a8 & 412.5 | 154.8 | 258.1
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Bk T fat
fil il Al H % = ¥ &
AT UAY (I 240 X 240 .LO m
U A 360 X 360 5.2 m
U R 600 X 600 14.8 m
DEAES 400 X 400 8.0 m
DEAES 400 X 500 59.0  m
DEAES 400 X 600 19.5 m
M RK ¢ 400 823.3 m
M RK ¢ 500 126.8  m
TVrv—F 7
UM 2% 300X 300 73.0  m
SE KT LK kA 600 X 600 X 700 2 FEPT
LK kA 700 X 700 X 600 1 &t
LK kA 700 X 700 X 700 8 FEPT
LK kA 700 X 700 X 800 2 FEPT
K HiB 600 X 600 X 700 15 T
K HiB 700 X 700 X 800 2 FEPT
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FEEE N E S K OME K (F& BT) i3

U 240X 240

il A e JE & (m) il A e JE £ (m)
NO. 58 + 19. 1 *H 1.0
/N g 1.0 /N 2 0.0
=3 3 1.0
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FEEE N E S K OME K (F& BT) i3

UAY{AINEE 360X 360
B sl HE £ (m) B sl S (m)
NO. 102+ 18.4 | £ 3.2
NO. 156 + 14.0 | £ 2.0
AN F 5.2 N E 0.0
& & 5.2




HEYLE F X OVE R (i) i

AN 600X 600

B sl JE: (m) B sl HEF: (m)
NO. 63+ 3.5 | A 2.0
NO. 79+ 9.0 | A 3.0
NO. 82 + 0.0 | A 1.5
NO. 94 + 50 | A 1.0
NO. 119 + 1.8 | & 1.0
NO. 124 + 3.7 | A 1.0
NO. 132 + 6.0 | £ 1.5
NO. 137 + 17.0 | & 1.0
NO. 149 + 18.2 | 4 1.8
NO. 153+ 1.6 | £ 1.0

2 14. 8 AN

& & 14. 8 & &




HEEMALIE S & OME = (fRFT) di &

BB 400 X 400~600

L I JE & (m) L (m)
No. 98 + 10.5
NO. 102+ 17.9 86.5
A 86. 5 /I 0.0
& 86. 5
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=cN
=

i

HEE N E 3 K OME R (R FT)

JER: (m)

0.0

823.3

e

SN

pal

JEL: (m)

41.3

28.2

49.1

49.0

48.4

42.9

42.9

52.6

28. 7

36.0

39.8

40.0

46. 4

52.8

50.0

50.0

50.0

37.7

37.5

32.7

823. 3

e

FAKEE ¢ 400

ihe

pal
75
77
78

18.

NO.

19. 5

NO.

0.5

NO.

8.5
0.5

79
82
84
84
86
87

NO.

NO.

9.5
10. 5

NO.

NO.

19. 5

NO.

0.5

NO.

9.5
10. 5

89
89
91

NO.

NO.

19. 5

NO.

0.5

92

NO.

4.5

94
94
96
97

NO.

5.5
19. 5

NO.

NO.

0.5

NO.

9.5

98

NO.

4.2
19. 5

124
125
126
127
128
129
130
132
137
140
140
142
143
145
145
147
148
149
153
154

NO.

NO.

0.0
19. 5

NO.

NO.

0.5
19. 5

NO.

NO.

0.5

NO.

5.5
17.5

NO.

NO.

9.5
10. 5

NO.

NO.

19. 5

NO.

0.5

NO.

9.5
10. 5

NO.

NO.

19. 5

NO.

0.5
17.7

NO.

NO.

2.2
19. 5

NO.

NO.

0.5
13. 5

155
156

NO.

NO.
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HEIEYNLIE S J OME R ((& FT) i &

MRIKEE ¢ 500

Al i v FE R (m) Al i v FE R (m)
[NO. 56 + 12.5
NO. 58 + 18.6 | £ 45. 5
[NO. 58 + 19.6
NO. 61+ 9.5 | A 49. 2
[NO. 61 + 10. 5
NO. 63+ 3.0 | A 32. 1
N3 126. 8 AN E 0.0
& 3 126. 8
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HEEMALIE S & OME = (fRFT) di &

UM SO0 L —F v U &
H )= e FEE (m) H )= e SEE (m)
NO. 115 + 18.0
NO. 119 + 10.8 | £ 73.0
/N i 73.0 /)8 Z 0.0
& g 73.0




FEEE N E S K OME K (F& BT) i3

KA 600X 600 X 700

il A ik YL (P il A s & (5 PT)
NO. 102 + 18.4 | A
NO. 156 + 14.0 | A
/N i 2 /)N g 0
& g 2
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HEEMALIE S & OME = (fRFT) di &

KA 700X 700 X 600

12 Y

e

JEE (FEFT)

pal

)ﬁ

v

JER (R

NO. 119 + 11.8

7N 2

o>
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HEMALE B X OE R (BT S

KA 700X 700X 700

il A ik Y& (i) il A e & (B4 PT)
NO. 79 4+ 9.0 | &
NO. 82 + 0.0 | &
NO. 94 + 5.0 | &
NO. 124 + 3.7 | &
NO. 132 + 6.0 | &
NO. 137 + 17.0 | &
NO. 149 + 18.2 | &
NO. 153 + 1.6 | &

A N

& g
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FEEE N E S K OME K (F& BT) i3

KA 700X 700 X 800
bl A e $ER (f5P7) bl A A FEE (fE P
NO. 58 + 19.1 | £ 1
NO. 63 + 3.5 | 4 1
/N g 2 /N g 0
& i 2




Il

FEEE N E S K OME K (F& BT) i3

AE KB 600X 600 X 700
W sl S (&7 AV = e 3t (FE AT
NO. 78 + 0.0 | £ 1
NO. 84 + 10.0 | & 1
NO. 87 + 0.0 | £ 1
NO. 89 + 10.0 | & 1
NO. 92+ 0.0 | £ 1
NO. 97+ 0.0 | £ 1
NO. 98 + 10.0 | & 1
NO. 126 + 0.0 | £ 1
NO. 128  + 0.0 | £ 1
NO. 130 + 0.0 | A 1
NO. 140 + 10.0 | & 1
NO. 143+ 0.0 | £ 1
NO. 145 + 10.0 | & 1
NO. 148 + 0.0 | £ 1
NO. 155 + 0.0 | £ 1
7 i 15 /N i
& i
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AEKHEB 700X 700 X 800

il A ik Y& (i) il A s & (B4 PT)
NO. 56 + 12.0 | &
NO. 61 + 10.0 | &
/N i 2 /)N g 0
& g 2
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tEgET BEEREME t=10cm m? 660. 6
TBEBEI |45y v—7R0-40 t=32cm| 660. 6

avyY—ro—ILT

AV y—kro—u t=10cm m’ 1117.6
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a7 )—ho— LT EEE

avyy—r—JL

gl m|BEom —o fii%
g T 108 E
NO. 56 + 12500 152
NO. 57+ 0000 7.500 0.57 1,05 7.8
NO. 58+ 0.000 | 20.000 0.82 0.70 13.9
NO. 59+ 0.000 | 20.000 159 .21 24,1
NO. 60+ 0.000 | 20.000 0. 88 124 24.7
NO. 61+ 0000 | 20.000 0.83 0.86 171
NO. 62+ 0.000 | 20.000 0. 81 0.82 16.4
NO. 63+ 0000 | 20.000 0.73 0.77 15.4
NO. 63+ 4000 | 4 000 0.73 0.73 2. 9|63 +0 I T ¥
NO. 75+ 18.100 0. 83 76+00D W i U 1
NO. 76+ 0000 | 1900 0.83 0.83 1.6
NO. 77+ 0.000 | 20.000 0.99 0.91 8.2
NO. 77+ 13.000] 13000 112 106 13.7
No. 78+ 0.000 | 7.000 113 113 7.9
NO. 78+ 11.300| 11.300 1.19 116 13 1[ka92
NO. 79+ 0000 | 8 700 .01 110 9.6
NO. 79+ 9.500 | 9.500 .01 1,01 9. 6[79+0 It
NO. 81+ 19.500 0. 54 82:+00D I i 1
NO. 82+ 0000 | 0500 0. 54 0.54 0.3
NO. 83+ 0.000 | 20.000 124 0.89 17.8
NO. 83+ 17.000| 17.000 1,07 116 19.6
NO. 84+ 0000 | 3000 1,05 1,06 3.2
NO. 85+ 0.000 | 20.000 0. 54 0.80 5.9
NO. 85+ 0200 0.200 0. 54 0.54 0.1{Ka10-1
NO. 86+ 0000 | 19.800 .57 .06 20.9
NO. 87+ 0.000 | 20.000 .08 .33 26.5
NO. 88+ 0000 | 20.000 0.94 1,01 20.2
NO. 89+ 0.000 | 20.000 0.94 0.94 188
NO. 90+ 0.000 | 20.000 0.92 0.93 18 6
NO. 90+ 0.200 | 0.200 0.92 0.92 0.2|KE10-1
NO. 91+ 0000 | 19.800 0.97 0.95 18 7
NO. 92+ 0.000 | 20.000 0.80 0.89 17.7
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avyy—r—JL

gl m|BEom —o fii%
g T 1908 E
NO. 93+ 0.000 | 20.000 0.95 0.88 17.5
NO. 94+ 0.000 | 20.000 1,35 115 23.0
NO. 95+ 0.000 | 20.000 .01 118 23.6
NO. 96+ 0.000 | 20.000 114 .08 21.5
NO. 97+ 0.000 | 20.000 0.73 0.94 18.7
NO. 97+ 14.900 | 14.900 1,56 115 17.1{KE10-2
NO. 98+ 0000 5100 156 1,56 8.0
NO. 99+ 0.000 | 20.000 0. 96 .26 25.2
NO. 100 + 0.000 | 20.000 0.75 0.86 171
NO. 101+ 0.000 | 20.000 0.95 0.85 17.0
NO. 102+ 0.000 | 20.000 0. 85 0.90 18.0
NO. 102+ 8000 | 8 000 0. 58 0.72 5.7
NO. 102+ 14.900| 6.900 0.82 0.70 4 8[KA10-2
NO. 102+ 18.900| 4. 000 0.82 0.82 3. 3[102+14. 90O WF i e T
NO. 124+ 3.300 0. 67 125+0 DT HE
NO. 125+ 0.000 | 16.700 067 0.67 1.2
NO. 126+ 0.000 | 20.000 0.80 0.74 14.7
NO. 127+ 0.000 | 20.000 068 0.74 148
NO. 128+ 0.000 | 20.000 0. 81 0.75 14.9
NO. 129+ 0.000 | 20.000 0. 54 0.68 135
NO. 129 + 10.500 10.500 0. 54 0.54 5.7
NO. 130+ 0.000 | 9.500 0. 54 0.54 5.1
NO. 131+ 0.000 | 20.000 0. 85 0.70 13.9
NO. 132+ 0.000 | 20.000 0.72 0.79 5.7
NO. 132+ 6500 | 6.500 0.72 0.72 4. 7| 132+ 00>t i e
NO. 137+ 16.600 1. 66 138+0 DI it I
NO. 138+ 0.000 | 3 400 1. 66 1,66 5.6
NO. 138+ 0.000 1. 66
NO. 139 + 0.000 | 20.000 1,21 .44 28.7
NO. 140+ 0.000 | 20.000 .09 115 23.0
NO. 141+ 0.000 | 20.000 1,20 115 22.9
NO. 142+ 0.000 | 20.000 1,32 1. 26 25.2
NO. 143+ 0,000 | 20.000 2.33 183 36.5
NO. 144+ 0,000 | 20.000 112 1.73 34.5
NO. 145+ 0.000 | 20.000 105 1,09 21.7
NO. 145+ 12.000| 12.000 0.78 0.92 11.0
NO. 146+ 0000 | 8 000 126 1,02 8 2
NO. 146 + 14.700| 14.700 145 .36 19.9[KE11-2
NO. 147+ 0000 | 5 300 148 147 7.8
NO. 148 + 0.000 | 20.000 1,39 .44 28.7
NO. 149 + 0,000 | 20.000 132 136 27.1
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gl m|BEom —o fii%
2 Ti90 mis

NO. 149+ 18.700| 18.700 1.32 132 24. 7| 149 +00> ot i A
NO. 153+ 1.100 0.78 154+00D I i
NO. 154+ 0.000 | 18.900 0.78 0.78 14.7

NO. 155+ 0.000 | 20.000 0.98 0.88 17.6

NO. 156+ 0.000 | 20.000 0. 85 0.92 18.3

NO. 156 + 14500 14.500 0. 85 0.85 12. 3156 0Dl i

& 11010 11176
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HREEUEL -8 18I (¢ 400) 1m %ty

REHIEL - EIHIT (¢400) s=1:20
—hR AR

750 (1000)

815 (&ET)
600 (EET)
_600 (L FEREAET])

00 (FrERRisT)

F
=0. 298m2

PS)

e Bk FER %=
VI T t=20cm 1.000 = 10 m
7A77 M EREERREZL |t=20cm 0.187 = 0.187 m3
1EAI T 0.298 = 0.298 m3
REL R—SZAS(13) t=5cm 0.820 = 0.82 m
HET B As(20) t=5cm 0.600 = 060 m
tERET BEEREME =10cm 0.600 = 0.60 m
TERET 939%—5YRC-40 t=320m 0.600 = 060 m




REHEL -1E 1B (¢ 500) 1m %y
BEBHEUEL - EIHI (5000 s=1:20
—hEEp
750 (1000)
TAT7I b L,
A=0. 207m2
873 (REBT)
600 (B/ET)
00 (- [EpRfigT)
o] 00 (FIERREET)
A=0.330m2~. N}y | | | m—————"
.
B qeipileoel | \_Pu-450 x 45047
[ I - I
- @
o —— wfs‘é“(FEP-VE-SG-PS)
AR KRR
¢ 500
2 R EK HE
SHEYIETT t=20cm 1.000 = 1.0 m
FRI7 MM EAEERRER L [t=20cm 0.207 = 0.207 m3
Al T 0.330 = 0.330 m3
xXET R—5ZAS(13) t=5cm 0.870 = 0.87 m
EET $AHIEE As(20) t=5cm 0.600 = 0.60 m
LTERET BERENE t=10cm 0.600 = 0.60 m
TERET 939%%—3YRC-40 t=32cm 0.600 = 060 m




BB EEL - 1818 T(RTZ400)

1m &Y

BBEIEL - HI18T (ATZ5400) s=1:20

—AEED
" 1000 =
TAI7 M EHZE AR AR L
A=0.121m2
oo\ B50(RBT)
ﬁﬁtﬂ% t=20cm _600 (&EI)_
S\ 800 (LFEERAET)
s 600 (FFEBEEE T)
A=0.192m2\ N\
e \,————-— L
\\E _____ 3— —— —[,{:__'T"‘“"‘_"'/

7 NC D

| L1\ T :

Y AR - ___i] } - | | | 4 PU_SBO X 360;&%

o — g O
S EBIEE (FEP - VE - SC - PS)
\EIEEE
400 x 400~600
E2! i FER HE

SHEYIETT t=20cm 1.000 1.0 m
FR77MMEERRERIEL [t=20cm 0.121 0.121 m3
Al T 0.192 0.192 m3
xXET R—5ZAS(13) t=5cm 0.550 0.55 m
EET FAHIFE As(20) t=5cm 0.600 0.60 m
LTERET BERENE t=10cm 0.600 0.60 m
TERET 5394—3YRG-40 t=32¢m 0.600 060 m




REHEL -8 18 (¢ 400-H-1) 1m %y
HBERIEL - EI8I (¢400-H-1) s=1:20
EREFEFER
= 1000 .
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A=0. 348m2 _
, . _ BI5(EEI)
%ﬁf&:ﬂ]ﬁ t_200m GOO_LE_E_]:—)_
\\_600 (FEeatET)
#RHE \\ 600 (AR T)
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Ny Pt Q_ s
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I 1.
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///A— £ ~_JB{S%E (FEP - VE - SC - PS)
\ R KR
¢ 400
2 R EK HE
SHEYIETT t=20cm 1.000 = 1.0 m
FRI7 MM EAEERRER L [t=20cm 0.348 = 0.348 m3
Al i) 0.556 = 0.556 m3
xXET R—FRAS(13) t=5cm 0.820 = 0.82 m
EET $AHIEE As(20) t=5cm 0.600 = 0.60 m
tERET BERTIME t=10cm 0.600 = 0.60 m
TERET 5394—3YRG-40 t=32¢m 0.600 = 060 m
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&K %
@400
e i FER HE
SHEYIET T t=20cm 1.000 = 1.0 m
FR77 AR AR L |t=20cm 0.382 = 0.382 m3
Al T 0.627 = 0.627 m3
xXET R—5ZAS(13) t=5cm 0.820 = 0.82 m
HEET FAHIFE As(20) t=5cm 0.600 = 0.60 m
TE®RET EERELE t=100m 0.600 = 0.60 m

TREET 939%4—5RC-40 t=32cm 0.600 = 0.60
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400 x 400~600

e Bk FER %=
VI T t=20cm 1.000 10 m
7A77 M EREERREZL |t=20cm 0.316 0316 m3
1EAI T 0.522 0522 m3
REL R—SZAS(13) t=5cm 0.550 0.55 m
HET B As(20) t=5cm 0.600 060 m
tERET BEEREME =10cm 0.600 0.60 m
TERET 939%—5YRC-40 t=320m 0.600 060 m
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HEEALE F I OME R (G5 7T)

Il

i

7 A H—7 (HAKEE ¢ 400%))

13— A $E £ (m) A I A $E £ (m)
NO. 75+ 18. 1
NO. 77+ 19.5 | A 41.
NO. 78 + 0.5
NO. 79+ 8.5 | # 28.
NO. 82 + 0.5
NO. 84 + 9.5 | & 49.
NO. 84 + 10.5
NO. 86 + 19.5 | A 49.
NO. 87 + 0.5
NO. 89 + 9.5 | A 48.
NO. 89 + 10.5
NO. 91 + 19.5 | A& 42.
NO. 92 + 0.5
NO. 94 + 4.5 | & 42.
NO. 94 + 5.5
NO. 96  + 19.5 | & 52.
NO. 97 + 0.5
NO. 98 + 9.5 | & 28.
NO. 124+ 4.2
NO. 125 + 19.5 | & 36.
NO. 126+ 0.0
NO. 127 + 19.5 | A& 39.
NO. 128 + 0.5
NO. 129 + 19.5 | A 40.
NO. 130 + 0.5
NO. 132 + 5.5 | A 46.
NO. 137 + 17.5
NO. 140 + 9.5 | & 52.
NO. 140 + 10.5
NO. 142+ 19.5 | A 50.
NO. 143+ 0.5
NO. 145 + 9.5 | A 50.
NO. 145 + 10.5
NO. 147 + 19.5 | A 50.
NO. 148 + 0.5
NO. 149 + 17.7 | A 37.
NO. 153 + 2.2
NO. 154 + 19.5 | A 37.
NO. 155 + 0.5
NO. 156+ 13.5 | A 32.
2 823. AN
& & 823.3
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HEEALE F I OME R (G5 7T)

A 2

7 A H—7 (HAKEE ¢ 500%h)

AL Sk et HE R (m) AL Sk et HE & (m)
[NO. 56 + 12.5
NO. 58 + 18.6 | 4 45. 5
[NO. 58 + 19.6
NO. 61 + 9.5 | A 49. 2
[NO. 61 + 10.5
NO. 63+ 3.0 | A 32.1
2 126. 8 AN
& 3 126.8
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f

HEEE N E IS K OME f (fEFT) i &

H— P U— VBB IR Gr-A-4E
13— A JE £ (£ T A I A 3E £ (F P

NO. 57 + 7.8

NO. 58 + 0.0 £ 11.8

NO. 58 + 9.0

NO. 58 + 13.3 | A 4.0

NO. 75+ 18. 1

NO. 76+ 4.9 A 6.6

NO. 82 + 0.0

NO. 82 + 5.7 1 A 6.0

NO. 84 + 0.0

NO. 85+ 5.6 | £ 25. 6

NO. 94+ 0.0

NO. 96+ 15.6 | £ 55. 0

NO. 97 o+ 0.0

NO. 97+ 15.0 | £ 14. 6

NO. 102+ 12.0

NO. 102+ 18.9 | £ 6.5

NO. 128 + 8.0

NO. 130 + 10.0 | £ 30. 0

NO. 137 + 17.0

NO. 138 + 6.0 | £ 10.0

NO. 145 + 10.0

NO. 146 + 6.0 | £ 16. 0

NO. 147 + 0.0

NO. 147 + 16.0 | £ 16. 0

NO. 153 + 1.2

NO. 154 + 3.9 A 23. 0

2 225. 1 AN
& & 225. 1
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MEIEEFR (K]

FE A #2731 iR B {1 = BE
BET

SHEEYI BT T t=20cm m 1101.0

TAI7 WM EBEERREUE L t=20cm m2 224.7

T A 7IL FEH#M m3 44.9

avy)—REIEL (H#h) m3 90.0
avoy—rFEIEL €::33)) m3 4.8

JL—F o 0ERE L5 156
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TRAI7IL MEEMREUE L

EitR [F#R]

7A77 b SRS hRER AR L —3t
I/ H g = H =
TRIvERZE t=200m
miE| A= 2247 224.7 m2
tREE| V= 224.7 x  0.20 44.9 m3
TAIT7ILEEM V=" 44.9 44.9 m3
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BEMREFER (K] (/1)

i & (&R

avoy—+F

H B Bifi - HfHs Bt L - & Bifi &
a o U—rBREL (EH)
URMAIE#IZE  Pu—240x 240 m 1.0 0.040 0.040 | m3
URMAIE#ZE  Pu-360x 360 m 960. 9 0.080 76.872 | m3
URMAIE#ZE  Pu-500x 300 m 8.8 0.080 0.704 | m3
URMAIE#ZE  Pu-500x 320 m 2.0 0.080 0.160 | m3
URMAIE#ZE  Pu-500 x 340 m 1.0 0.090 0.090 | m3
URMAIE#ZE  Pu-500x 350 m 3.0 0.090 0.270 | m3
URMAIE#ZE  Pu-500x 370 m 1.0 0.090 0.090 | m3
URMAIE#ZE  Pu-500 x 400 m 3.3 0.090 0.297 | m3
URMBIE#ZE  Pu-540x 350 m 1.0 0.110 0.110 | m3
US3EY A% US3-300 x 300 m 122.0 0.090 10.980 | m3
US3ZUAIE = US3-400 x 400 m 0.0 0.170 0.000 | m3 [CoEET
£k tEiE L 700 x 700 x 700 (C) | & 7.0 0.060 0.420 | m3 [Coz
avyy—rEEEL
(W) &5t 90.033 | m3
avyy—rEEL (ESH)
SEKHEIEL 600600 x 600 | EFR 1.0 0. 400 0.400 | m3
&£ kHtEE L 600 % 600 x 600 (G) | BT 1.0 0. 400 0.400 | m3
SEok#EIEL  700x 700 x 700 | @FER 1.0 0.500 0.500 | m3
&£ kHtEE L 700 x 700 x 700 (C) | &FT 7.0 0.500 3.500 [ m3
&£ kHtEE L 700 x 700 x 700 (G) | &FT 0.0 0.500 0.000 | m3
&£ kHtEE L 700 x 700 x 700 (S) | &FT 0.0 0.500 0.000 | m3
avyy—rEEL
(&Em) &5t 4.800 | m3
UBLRIE Y L—F v V&l
(360/8) ® 32.7 1.000 3| %
USSEMAIES L—F v &=
(3008) #® 122.0 1.000 122 | #&%
USSEMAIES L—F v &=
(400F8) ® 0.0 0.050 0| #%
FUL—F U IEHE
(£ /K #1600 x 600 FH) ® 1.0 1.000 1| %
FUL—F U IEHE
(2K #1700 x 700 ) ® 0.0 1.000 0| #%
JL—FoIERE
&5t 156 | #%&
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AR

UZYBI;E % Pu-360 X 360

R (&

0.0
960. 9

k]

=1
R

il

+

+

+

+

+

+

I & (& A

45.5

82.2

70. 4

241.0

40. 4

67.9

164. 7

165. 5

11.1

63.6

2.0

960. 9

za

=1
R

il

95
97
100

0.0

0.0

17.9

102

4.2

124

5.5

132

17.5
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BEYME S & VIR (BT

AR

UZYEIE I E Pu-400 X 260

URMEIEH#Z Pu-500 X 300

b ! =] it & (@FR) b ! ] it & (@7
+ +
~ + ~ 82 + 00 & 1.5
+ 153 + 1.1
~ + ~ 153 + 9.0 | & 1.3
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
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N 0.0 N F 8.8
& 5 5 G 8.8
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BEYME S & VIR (BT

AR

URYEIE#E Pu-500 x 320

URMEIEH#ZE Pu—500 X 340

B 4 TE () B 4 £ (&)
+ +
~ 63 + 3.5 y =] 2.0 [~ 94 + 5.0 & 1.0
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
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N g 2.0 /I g 1.0
=) i 2.0 = i 1.0
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BEYME S & VIR (BT

AR

URYEIE I E Pu-500 x 350

URMEIE < Pu-500 x 370

A = ] fiE & (EFT) A = ] I & (EF)
+ +
~ 19 + 9.0 | A& 3.0 [~ 137 + 17.0 | & 1.0
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
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+ +
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N 3.0 N F 1.0
a E 3.0 =) E 1.0
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BEYMED L VIR (FEFh) SAE
iR
US3EMAI;EH#Z US3-300 % 300 US3EMAIERIE US3-400 X 400
pill = kA EE (&R pill = ka EER (&R
97 + 0.0 +
~ 100 + 0.0 | A 61.0 || ~ + A
146 + 0.0 +
~ 149 + 00| A 61.0 || ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
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Ul g 122.0 I £ 00
= i 122.0 = i 0.0
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BEYME S & VIR (BT

AR

&Kk HEIEL 600 X 600 X 600 S K#EEIZEL 600 X 600 X 600 (G)
pill = =] ER (Fr) pill = =] EER (&R
+ +
~ 153 + 9.5 | A 1.0~ 58 + 19.1 | A 1.0
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
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~ + ~ +
I g 1.0 N g 1.0
& i 1.0 & F 1.0
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BEYHMES S VR (B

AR

URIBIES L —TF 2 ZE383=(360/) URIBIES L —F > F E#E(4508)
8 kA EE (&) Bl =
128 + 8.0 +
~ 129 + 0.0| A 12.3 | ~ +
130 + 0.0 +
~ 131 + 0.0 | A 20.4 || ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
~ + ~ +
+ +
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UZLBI;EPu-240 x 240882 10m 2ty
UBMAE  ~TikF
i 2 a(mm) | b (mm) ¢ (m2)
Pu-240 x 240 240 240 0.04
Pu-360 x 360 360 360 0.08
S T Pu-450 x 450 450 450 0.10
_ Pu~600 x 600 600 600 0.16
Pu-400 x 260 400 260 0.06
2 Pu-500 x 300 500 300 0.08
Pu-500 x 320 500 320 0.08
SUsu—k(cRuE B Pu-500 x 340 500 340 0.0
Pu-500 x 350 500 350 0.09
Pu-500 x 370 500 370 0.09
Pu-500 x 400 500 400 0.09
Pu-540 x 350 540 350 0.11
HER 10n24 Y
% B
£ Fi #HOO® By Pu- Pu- Pu- Pu- i =
240 x 240 360360 | 450x450 | 600 =600
TETE @ 10.0 10.0 0.0 | 100 /1B
WV HEEWEREL (TypeB) | —RWE BH | m 0.4 0.8 1.0 16
Ex g FEK =
aVY)—MEEY | ZRE R ERH 0.040 x  10.000 = 0.4 m3

B L(TypeB)
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UEMAI;EPu-360 X 3603 10m 21y
UBLEIE TS

A ¥ a (mm) b (mm) ¢ (m2)

Pu-240 x 240 240 240 0. 04

Pu-360 x 360 360 360 0.08

.2 PU-450 % 450 450 450 0.10
Pu-600 x 600 600 600 0.16

Pu-400 x 260 400 260 0.06

Pu-500 x 300 500 300 0.08

Pu-500 x 320 500 320 0.08

Sus -k CRuE B Pu-500 x 340 500 340 0.09

Pu-500 x 350 500 350 0.09

Pu-500 x 370 500 370 0.09

Pu-500 x 400 500 400 0.09

Pu-540 x 350 540 350 0.11

HER 10m24 Y.
T
% o B’ i Pu- Pu- Pu- | Pu- wm =
240 x 240 360360 (| 450 %450 | 600600
T @ | 100 10.0 0.0 | 10.0 n/f@
WV HEEWEREL (TypeB) | —RWE BH | m 0.4 0.8 1.0 16
£ 7 s s nE
aVY)—MEEY | ZRE R ERH 0.080 x  10.000 = 0.8 m3

B L(TypeB)
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UZLBI;EPu-450 x 45032 10m 2ty
UBRIRIE ~TiESR

A o a (mm) b (mm) ¢ (m2)

Pu-240 x 240 240 240 0.04

Pu-360 x 360 260 360 0 08

i 8 - Pu-450 x 450 450 450 0.10
Pu-600 x 600 600 600 0.16

Pu-400 x 260 400 260 0. 06

Pu-500 x 300 500 300 0.08

Pu-500 x 320 500 320 0.08

S h ) — h (— RS, B Pu-500 x 340 500 340 0.09

Pu-500 x 350 500 350 0.09

Pu-500 x 370 500 370 0.09

Pu-500 x 400 500 400 0.09

Pu-540 x 350 540 350 0. 11

HER 10n4 Y
# &
% Eo - B Pu- Pu- Pu- Pu- i
240% 240 | 360%360 | 450x450 | 600 600
T @ | 10.0 10.0 10.0 10.0 n/@
Y- M E Y ERE L (TypeB) ZRUS B m3 0.4 0.8 1.0 1.6
& g FEX HE
aVY)—MEEY | ZRE R ERH 0.100 x  10.000 = 1.0 m3

B L(TypeB)
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U {Ii#Pu—600 x 6001 % 10m &7y
URIBIE ~TiESR

A # a(mm) b (mm) ¢ (m2)

Pu-240 x 240 240 240 0.04

Pu-360 x 360 360 360 0.08

s Pu-450 x 450 450 450 0.10
Pu-600 x 600 600 600 0.16

Pu-400 x 260 400 260 0. 06

Pu-500 x 300 500 300 0.08

_ Pu-500 x 320 500 320 0.08

DU Uk (CRuEES, B Pu-500 x 340 500 340 0.09

Pu-500 x 350 500 350 0.09

Pu-500 x 370 500 370 0.09

Pu-500 x 400 500 400 0.09

Pu-540 x 350 540 350 0.11

HER ED)
w8
E4 F -] % =T ivd Pu- Pu- Pu- Pu- B
240x 240 | 360x360 | 450x450 | 600 x 600
T @ | 100 10.0 10.0 10.0 /18
I-HEEMIEL (TypeB) | —KBE B | m 0.4 0.8 .0 1.6
& g FEX HE
AVV—MEEY | —RE R EH 0.160 x  10.000 = 16 m3

B L(TypeB)
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UZLAIEPU-400 x 260881 10m 7Y
UBRIRIE ~TiESR

A o a (mm) b (mm) c(m2)

Pu-240 x 240 240 240 0.04

Pu-360 x 360 360 360 0.08

— Pu-450 x 450 450 450 0.10
Pu-600 x 600 600 600 0,16

Pu-400 x 260 400 260 0.06

Pu-500 x 300 500 300 0.08

Pu-500 x 320 500 320 0.08

N b (SRS D) Pu-500 x 340 500 340 0.09

Pu-500 x 350 500 350 0.09

Pu-500 x 370 500 370 0.09

Pu-500 x 400 500 400 0.09

Pu-540 x 350 540 350 0. 11

HEFR 10m%4 Y
B
£ 673 B % B Pu- Pu- Pu- Pu- o=
400 x 260 § 500x300 | 500x320 | 500 x 340
UR G & 10.0 0.0 | 100 10.0 /18
V- MEEMEE L (TypeB) | —RMG, i m3 0.6 0.8 0.8 0.9
kil i s HE
AVV—MEEY | —RE R EH 0.060 x  10.000 = 06 m3

B L(TypeB)
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UZL{RI7&Pu-500 x 3004 = 10 m %ty

URIIE  ~HiER

A # a(mm) b (mm) ¢ (m2)
Pu-240 x 240 240 240 0.04
Pu-360 x 360 360 360 0.08
r ? . Pu-450 x 450 450 450 0.10
i Pu-600 x 600 600 600 0.16
Pu-400 x 260 400 260 0.06
= Pu-500 x 300 500 300 0.08
. Pu=500 x 320 500 320 0.08
SUH U= b (CRUS, B Pu-500 x 340 500 340 0.09
Pu-500 x 350 500 350 0.09
Pu-500 x 370 500 370 0.09
Pu-500 x 400 500 400 0.09
Pu-540 x 350 540 350 0.11
HER 1005 Y
8 =
3 m: ] B | Pu- Pi- | P [ P | W OB
400x 260 | 500x300 § 500x320 | 500 x 340
T @ | 100 10.0 10,0 10.0 In/f@
WI-HEEMEUE L (TypeB) | —RMA. BR | 0 0.6 0.8 0.8 0.9
& g FEX HE
AVV—MEEY | —RE R EH 0.080 x  10.000 = 08 m3

B L(TypeB)




UZLAIEPU-500 x 320881 % 10m 7Y
URIEIE <R
A # a(mm) b (mm) ¢ (m2)
Pu-240 x 240 240 240 0.04
Pu-360 x 360 360 360 0.08
e Pu~450 x 450 450 450 0.10
Pu~600 x 600 600 600 0.16
Pu-400 x 260 400 260 0. 06
Pu-500 x 300 500 300 0,08
_ Pu-500 x 320 500 320 0.08
SUH =k (CRMS HE) PU-500 X 340 500 340 0.09
Pu-500 x 350 500 350 0.09
Pu-500 x 370 500 370 0.09
Pu-500 x 400 500 400 0.09
Pu-540 x 350 540 350 0.11
HER 10m Y
LI
& £ HOO#® HifiL Pu- Pu- Pu- Pu- W o=
400x 260 | 500x300 f| 500x320 | 500x 340
UBS A3 m 10.0 10.0 10.0 10.0 n/18
WYY-HEEMEE L (TypeB) | — RS, Al m3 0.6 0.8 0.8 0.9
B 1 FER HE
AVV—MEEY | —RE R EH 0.080 x  10.000 = 08 m3

B L(TypeB)
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UZY{AI;EPu-500 X 340313 10 m &Y

URIIE  ~HiER

& F a (mm) b (mm) ¢ (m2)
Pu-240 x 240 240 240 0.04
e Pu-360 x 360 360 360 0.08
Pu-450 x 450 450 450 0.10
' Pu-600 x 600 600 600 0.16
- Pu-400 x 260 400 260 0.06
Pu-500 x 300 500 300 0.08
g c Pu-500 x 320 500 320 0.08
ALH Y= (CRES, B =
Pu-500 x 340 500 340 0. 09
T Pub00x3a50 | 500 350 0.09
Pu-500 x 370 500 370 0.09
Pu-500 x 400 500 400 0.09
Pu-540 x 350 540 350 0.11
HBER 10m% Y
_ W&
F3 o 3] # BGr f Pu- Pu- Pu- Pu- i =
400260 | 500x300 | 500x320 § 500 x 340
R @ | 10.0 10.0 | 100 10.0 /B
HY-HEEWEUEL (TypeB) | —RUS. A m | o6 0.8 0.8 0.9
& g FER HE
aVY)—MEEY | ZRE R ERH 0.090 x  10.000 = 09 m3

B L(TypeB)




UZBI;&Pu-500 x 35032 10m 2ty
URIBIE ~TiESR
A # a(mm) b (mm) ¢ (m2)
Pu-240 x 240 240 240 0.04
o Pu-360 x 360 360 360 0.08
Pu-450 x 450 450 450 0.10
' Pu-600 x 600 600 600 0.16
- Pu-400 x 260 400 260 0.06
Pu-500 x 300 500 300 0.08
: c Pu-500 x 320 500 320 0.08
VG U— h(CRUR, B
Pu-500 x 340 500 340 0.09
Pu-500 x 350 500 350 0.09
N U-500 X 500 370 0.09
Pu-500 x 400 500 400 0.09
Pu-540 x 350 540 350 0.11
HER 1002 Y
&
£ o BB Hi{d Pu- Pu- Pu- Pu- =
500= 350 § 500=370 | 500=400 | 540x350
il U 10.0 10.0 10.0 10.0 /18
- HBEMEIR L (TypeB) | — RS, A m3 0.9 0.9 0.9 1.1
& g FEX HE
AVV—MEEY | —RE R EH 0.090 x  10.000 = 09 m3

B L(TypeB)
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UEMAI;EPu-500 % 3708 10m 7Y
UBIRIE ~Tiks

A # a(mm) b (mm) ¢ (m2)

Pu-240 x 240 240 240 0.04

Pu-360 x 360 360 360 0.08

LA Pu-450 x 450 450 450 0.10
Pu-600 x 600 600 600 0.16

Pu-400 x 260 400 260 0.06

Pu-500 x 300 500 300 0.08

Pu-500 x 320 500 320 0.08

S p— b o E ) Pu-500 x 340 500 340 0.09

Pu-500 x 350 500 350 0. 09

Pu-500 x 370 500 370 0.09

Pu-500 X 400 500 400 0.09

Pu-540 x 350 540 350 0. 11

BER 10nsiy
; Y &
% o - g | Pu- Pu- Pu- Pu- W OE
| 500350 | 500x370 | 500x400 | 540x 350
UBE);E @ | 100 10.0 10.0 10.0 Tm/{8
WHY-MEEWERIE L (TypeB) | RS, A m | 09 0.9 0.9 1.1
£ ¥R R ER HE
AVV—MEEY | —RE R EH 0.090 x  10.000 = 09 m3

B L(TypeB)
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UZBI;EPu-500 x 4003 2 10m 2ty
URIBIE ~TiESR
A # a(mm) b (mm) ¢ (m2)
Pu-240 x 240 240 240 0.04
, Pu-360 x 360 360 360 0.08
_ Pu-450 x 450 450 450 0.10
' Pu-600 x 600 600 600 0.16
R Pu-400 x 260 400 260 0.06
Pu-500 x 300 500 300 0.08
' o Pu-500 x 320 500 320 0.08
VO N B A Pu-500 x 340 500 340 0.09
Pu-500 x 350 500 350 0. 09
Pu-500 x 370 500 370 0,09
Pu-500 x 400 500 400 0.09
PU-540 X 350 540 350 0.1
BEX 10n4 )
el
£ # % B Pu- Pu- Pu- Pu- W O=E
500=350 | 500x=370 § 500x=400 | 540x350
il TETE @ 10.0 10.0 10.0 10.0 m/18
WH-MEEMER L (TypeB) | —RMS. HEH | 3 0.9 0.9 0.9 11
E2! g FEX HE
AL —MEEY | RA R A 0.090 x  10.000 = 09 m3

B L(TypeB)
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UEMAI;EPu-540 X 3508 10m 21y
UBRIRIE ~TiESR
2 # a (mm) b (mm) ¢ (m2)
Pu-240 x 240 240 240 0.04
Pu-360 x 360 360 360 0.08
] PU-450 x 450 450 450 0.10
- Pu-600 x 600 600 600 0.16
Pu-400 x 260 400 260 0. 06
B Pu-500 x 300 500 300 0.08
| . Pu-500 x 320 500 320 0.08
A2 7= FEREE, FH) Pu-500 x 340 500 340 0.09
Pu-500 x 350 500 350 0.09
Pu-500 x 370 500 370 0.09
Pu-500 x 400 500 400 0,09
Pu-540 x 350 540 350 0. 11
HER 1004y
_ B B
& W mos W | Pu- Pu- Pu- Pu- w B
500350 | 500x370 | 500400 | 540350
I I 0.0 10.0 10.0 10.0 n/@
WHY-HEEWIIRL (TypeB) | —RBS. A5 m | 009 0.9 0.9 1.1
B FR i FER o=
aVY)—MEEY | ZRE R ERH 0.110 x  10.000 = 11 m3

B L(TypeB)
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US3ZUAIEUS3-300 % 300312

10m Hi=Y

22—k
(TR, HER)

d
aZU—FE 5 @

USSEAliE i

¢
QL Y— R ZRESR B

2 i FG] o) o2 1o
| US3-300 300 300 300 0.09 0.04 ]
US3-400 x 400 400 400 0.11 0.06
HEF 10m4 1)
& & _ |
F3 # 8 B 1s3- I Us3- =
300300 400 x 400 |
— *i 16 [ #*R-IC _
US3 5 % 1] 5.0 5.0 5.0 | /@
ALY Y—F& # 19.0 19.0 0. 5m/#4
LYY HIEMERE L (TypeB) | ZRMEB. A m3 0.9 1.3 1.7
TL—F2098 420 % 995 x 50 fk 10.0 0._5
FL—FuiE 520 %995 = 50 W 0.5
B FR g FEX HE
aVY)—MEEY | ZRE R ERH 0.090 x  10.000 = 09 m3
& L(TypeB)
JU-ForERE (420 X 995 X 50 10.000 /  1.000 = 100 #%

7



US3TUAIEUS3-400 % 400412

10m Hi=Y

d

AVHY—FE

22—k
(TR, HER)

USSEAliE i

o= R (CRYE B

£ o a (mm) b (mm) c(m2) d(m2)
o US3-300% 300 300 300 0.09 0.04
I US3-400 x 400 400 400 | o011 | o006
HEF 10m4 1)
w &
F3 # 8 B 1s3- Us3- =
300x300 400 x 400
4 | IC *i - 10 |
US3HY [l iz} 5.0 | 5.0 5.0 2m/ &
ALY Y—F& # 19.0 19.0 0. 5m/#4
LYY HIEMERE L (TypeB) | ZRMEB. A m3 0.9 1.3 1.7
Fo—F 08 420 % 995 x 50 fk 10.0 | 0._5
FL—FuiE 520 %995 = 50 W 0.5
B FR g FEX HE
aVY)—MEEY | ZRE R ERH 0.110 x 10000 + 0060  x ( 10.000 =
HuiE L(TypeB) - 1.000 X 10.000 / 20.000 ) = 1.7 m3
JU-ForERE 520 X 995 X 50 1.000 x 10000 /  20.000 = 05
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URMAIED L—F 2 F ZG60RiEE 10 m %7y
SL—FU5E
. A .
l rd
P e —
- |
- a B
UBIAE Y L—F P98 tER
£ i a (mm) b (mm) A (mm)
um@issL—> 5% G60m) 350 50 8 |
UEMEIE YT L—F 55 (450/ 440 50 554
UEMBIE S L—F 4% (600/) 590 75 722
HER 10m24 Y
| # &
EA Eo iR i B | URGE UBLEIE UZL{aI% W E
(D L-Ful Z |0 -5 B0 V-F B
- ) (GO0 ER)
UVRMEE Y L—F & (360) 350%995x% 50
UVEIER Y L—F 5= (450/) 440x995x 50 10,
VBB S L—F 0% (600/) 590x995x75 B 10.0
B FR i FER o=
URMBIEY L7 B (335 X 995 X 50 10.000 /  1.000 10.0 #&
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URMAIE D L—F 2 F Z@450 A E 10 m %7y
TL—F o5&
- A _
l rd
P e —
[_ 1

UBIAE Y L—F P98 tER

£ o a (mm) b (mm) A (mm)
VEMEIES L—F > J% (360F 350 50 438
VRIS L—F 5 E (450M) 440 50 554 |
UEMBIE S L—F 4% (600/) 590 75 722
HER 10m24 Y

| # &
EA Eo iR i B | URGE UBLEIE UZL{aI% W E
(D L-Ful Z |0 -5 B0 V-F B
(360/8) (450/8) (600F8)
BB S | —F ~ 22 (360F) 350 %995 x 50 L 10.0
UBREIH S L—F w45 (450M) 440x995x 50 # 10.0
UVEMEE Y L—F & (600F)  590x995x 75 # 10.0
B FR i FER o=
UBIEIE Y L-F o0 B % |440 X 995 X 50 10.000 /  1.000 10.0 #&
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URMAIE D L—F > Z (600 A E 10 m %7y

TL—F o5&
- A _
l rd
P e —
- |
- a B
UBIAE Y L—F P98 tER
£ o a (mm) b (mm) A (mm)
URIEIE Y L—F 4% (360 350 50 438
UEMBM T L—F > J 3 (450F0) 440 50 554
VBIEE S L—F »5E (600) 590 75 722 |
HER 10m24 Y
| # 2 |
£ ¥ HoOo®n B | UBMEGE | URUGGE | URMIGE | B OB
(D L-Ful Z |0 -5 B0 V-F B
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LI0k8 §30 K

AZKEE ¢ 300 10 m %74
- b -
' HEHIE
_ bl 60 bl | "
300 300

=
! 1
o
Ead = 5
5|
= =
1 Dl
2 <l
El ’ . Ei
g e g YY) Vi g
S\ \BELSL (1:9) .
\BEaVHY—b _§J i a
500 b 50 (ock=18N/m2) —— .
| b4=b+50+50 (%ffg)
ARk TiER ™
% . ] = =
Al b b1 h1 h2 h3 h4 h *E#J W 0.480 + 0.600 1.080
FEkEE 300 | 480 210 5| 90| 300 120| 515 #EEl H=  0.635 - 0.520 = 0.115
MRIskEE 350 540 240 5 90| 350 130 575
FIEIKEE 6400 600 270 6 90| 400 110 606
FIEIKEE 500 720] 330 7| 90| 500 130 727
E2! i FER HE
M 24K 3% ¢ 300 10.000 /  2.000 = 50 &
EILSIL 1:3 0480 x  0.020 x 10.000 = 010 m3
O 2)—k |0 ck=18N/mm?2 0.580 x  0.100 x 10.000 = 058 m3
pily 0.100 x 10000  «x 2 = 200 m2
E RC-40 0.580 x  1.000 x 10.000 = 580 m2
(t=100)
R tw 0580 «x 0.100 x  10.000 = 0.6 m3
1080 «x 0.115 x  10.000 = 1.2 m3
= 1.8 m3
Bt 0580 x 0.200 x  10.000 = 1.2 m3
0480 x ( 0.115 - 0100 ) x 10.000 = 0.1 m3
= 1.3 m3
HEREL 1.8 - 1.3 = 0.5 m3
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FEKER ¢ 350

10

m Hi=y

_ b ~
| HEHIE
_ b1l _BO0_ bl "
300 300
b
=
) (z\li
x =
] ol
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= Y 2 g
] g 89 28I
BELAL (1:3) ‘
(EEavH Y=+ N b kol
50 b 50 (o ck=18N/mm2) - |
. b4=b+50+50 o
MK TEE
' mm | b bl | m | h|h | m| n WMl W= 0.540 +0.600 = 1.140
FEKEE 6300 | 480 210 5 90| 300 120] 515/ JE4I H= 0.695 -0.520 = 0.175
AELKEE $350 | 540 240 5] 90| 350 130| 575
FHEIKEE 4400 | 600 270 6 90| 400 110| 606
FEKE 6500 720 330 7| 90| 500 130 727
E2! i FER H=
M 24K 3% ¢ 350 10.000 /  2.000 = 50 &
EILSIL 1:3 0540 x  0.020 x 10.000 = 011 m3
O 2)—k |0 ck=18N/mm?2 0.640 x  0.100 x 10.000 = 064 m3
pily 0.100 x 10.000  x 2 = 200 m2
E RC-40 0.640 x  1.000 x 10.000 = 640 m2
(t=100)
R tw 0640 «x 0.100 x  10.000 = 0.6 m3
1140  x 0.175 x  10.000 = 20 m3
= 26 m3
Bt 0640 x 0.200 x  10.000 = 1.3 m3
0540 x ( 0.175 - 0100 ) x 10.000 = 0.4 m3
= 1.7 m3
HEREL 2.6 - 1.7 = 0.9 m3
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FHEIKER ¢ 400
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HEHIE
. bl 60 A
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FONE s
S MELEL (1:3)
HEaH)— o =
_50/_ b 50/ (o ck=18N/mm2) T
l b4=b+50150 i
MEOKEE ~TiER
185 b | bl | h | h2| h3 | he| h #EHl W= 0.600 + 0.600 = 1,200
MEKE ¢300 480 210 5| 90 300 120 515 : i B .
FZKE ©350 | 540 240 5| 90| 350 130| 575] Nl W= 0.726 - 0.520 9
FEKEE ¢ 400 600 270 6| 90 400 110 606
FZIKEE 500 7200 33 7| 90 500 130 727
E2! i FER H=
M 24K 3% ¢ 400 10.000 /  2.000 = 50 &
EILSIL 1:3 0.600 x 0020 x 10.000 = 012 m3
O 2)—k |0 ck=18N/mm?2 0.700 x  0.100 x 10.000 = 070 m3
pily 0.100 x 10000  «x 2 = 200 m2
E RC-40 0.700 x  1.000 x 10.000 = 700 m2
(t=100)
R tw 0700 «x 0.100 x  10.000 = 0.7 m3
1200 x 0.206 x  10.000 = 25 m3
= 32 m3
Bt 0700 «x 0.200 x  10.000 = 14 m3
0600 x ( 0.206 - 0100 ) x 10.000 = 0.6 m3
= 20 m3
HEREL 3.2 - 2.0 = 1.2 m3
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FEKEE @500 10 m %1y
. b .
JEEI
bl 60 bl "
300 300
- b
EF
! |
o
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£ W' i
7
)
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= . . 2
,_s" A g rr (L g
LN\ BELAL (1:3)
D\ oV -t b y
_500 b 50 (ock=18N/mm2) | I—
I bA=b+50+50 IR
MEKE TiExR " i =
H R b b1 bl | h2 | h3 | h4 h #EHl W= 0.720 + 0.600 - 1.320
FEKEE $300 | 480| 210 5] 90| 300| 120| 515 Al H= 0.847 - 0.520 = 0.327
MEkEE $350 | 540 240 5| 90| 350| 130| 575
FMAKEE ¢400 | 600 270 6 90| 400 110 606 |
FHEk#E 500 | 720 330, 7| 90| 500 130 727
Ex i FER HE
M 24K 3% ¢ 500 10.000 /  2.000 = 50 &
EILSIL 1:3 0.720 x  0.020 x 10.000 = 014 m3
O 2)—k |0 ck=18N/mm?2 0.820 x  0.100 x 10.000 = 082 m3
pily 0.100 x 10.000  x 2 = 200 m2
E RC-40 0.820 x  1.000 x 10.000 = 820 m2
(t=100)
R tw 0820 «x 0.100 x  10.000 = 0.8 m3
1320 «x 0.327 x  10.000 = 43 m3
= 51 m3
Bt 0820 «x 0.200 x  10.000 = 1.6 m3
0720 x ( 0.327 - 0100 ) x 10.000 = 1.6 m3
= 32 m3
HEREL 5.1 - 3.2 = 1.9 m3
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UEYEIE 240x 240

10 m &H7=Y

b "
_bl__ B :
| B
/ 8
' 300 b 300
AP U—F
(o ck=18N/mm2)
50, b 50,
L b4=b+50+50 | (ﬁﬁﬁ
URIRIE  TiE® } i i i A 4 2
5 b | bi | B | h | nl| H U /3//8/ :|
U 240 x 240 440 100 240 340 100 240
U 360 x 360 560 100 360 460 100 360 4 b 2
U 400 x 260 600 100 400 360 100 260 b=b50:50
U 450 x 450 650 | 100 450 550 100 450
U 500 x 300 700 100 500 400 100 300
U 500 x 320 700 100 500 420] 100 320
U 500 x 340 700 100 500 440 100 340
U 500 x 350 700 100 500 450 100 350
U 500 x 370 700/ 100 500 470 100 370
U 500 » 400 700 100 500 500 100 400
U 540 x 350 740 100 540 450 100 350
U 600 x 600 820 110 600 700 100 600
& g FER HE
avo)—k 0 ck=18N/mm2 0.440 0.340 =
0.240 X 0.240 = 009 m3
Eiy A 0.340 10.000 X 2
0.240 X 10.000 X 2 = 11.60 m2
M RC-40 0540 10.000 = 540 m2
(t=150)
PRYE T 0540 x 0.150 X 10.000 = 0.8 m3
1040 X 0.340 X 10.000 = 35 m3
= 43 m3
%t 0540 X 0.150 X 10.000 = 0.8 m3
0440 X 0.340 X 10.000 = 1.5 m3
= 23 m3
#HERL 43 - 2.3 = 20 m3
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UEYEI7E 360x 360

10 m &H7=Y
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' {RHIE
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50, b 50
L bd =b+50+50 i {%ﬂhﬁﬁ]
URIHE  <HEE _ — N <
H5 b bl B h | h H U \U/‘ Ei
U240 x 240 440 100 240 340 100| 240 # lﬂ
U 360 x 360 560 100 360 460 100 360 i I E—
U 400 x 260 600 100 400 360 100 260 n4=450450
U 450 % 450 650 100 450 550 100 | 450
U500 x 300 700, 100 500| 400] 100 300
U 500 = 320 700 100 500 420 100 320
U 500 % 340 700 100 500 440 100| 340
U 500 x 350 700 100 500 450 100 350
U500 % 370 700 100 500 470 100 370
U500 % 400 700 100 500 500 100 400
U 540 x 350 740 100 540| 450 100 350
U 600 x 600 820 110 600/ 700 100 600
2™ g FEX =
avol)—k 0 ck=18N/mm2 0.560 0.460 =
0.360 X 0.360 = 0.13 m3
Eil g =] 0460 10.000 X 2
0.360 X 10.000 X 2 = 1640 m2
i) RC-40 0.660 10.000 = 6.60 m2
(t=150)
R1E T 0660 X 0.150 X  10.000 = 1.0 m3
1160 X 0.460 X 10.000 = 53 m3
= 6.3 m3
%t 0.660 X 0.150 X 10.000 = 1.0 m3
0560 X 0.460 X 10.000 = 26 m3
= 3.6 m3
ERL 63 - 36 = 2.7 m3
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UEYEI7E 400x 260

10 m &H7=Y

. b "
- B
! 1EHIE
/] E:
. ' 300 b 200
Y=
(o ck=18N/mm2)
50, b 50
L b4 =h+50+50 ) {%&E‘J
VBRI ~TiEE i : i A Id
a3 SEREAERERE L L] e
U 240 % 240 440 100 240 340 100 240
U 360 x 360 560 100 360 460 100 360 b 3
U400 x 260 600 100 400 360 100 260 b =be5is0
U 450 % 450 650 100 450 550 100 450
U 500 % 300 700 100 500| 400 100| 300
U500 % 320 700 100 500 420 100 320
U 500 % 340 700 100 500 440 100| 340
U 500 x 350 700 100 500 450 | 100 350
U 500 x 370 700 100 500 470 100 370
U 500 % 400 700 100 500 500 100 400
U 540 % 350 740 100 540 450| 100 350
U 600 x 600 820 110 600/ 700 100 600
2™ g FER H=E
avol)—k 0 ck=18N/mm2 0.600 0.360 =
0.400 X 0.260 = 011 m3
Eil g =] 0.360 10.000 X 2
0.260 X 10.000 X 2 = 1240 m2
i) RC-40 0.700 10.000 = 700 m2
(t=150)
R1E T 0700 X 0.150 X  10.000 = 1.1 m3
1200 X 0.360 X 10.000 = 43 m3
= 54 m3
%t 0700 X 0.150 X 10.000 = 1.1 m3
0600 X 0.360 X 10.000 = 22 m3
= 3.3 m3
ERL 54 - 33 = 21 m3
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UEYEIE 450x 450

10 m &H7=Y

_b1__ B -
= HmEIE
NS
8
: 300 b 300
AP U—F
(o ck=18N/mm2)
50, b 50,
b4=b+50+50 Lﬁ%ﬁ
VR &R i i : ! A
A b b1 B h hi H /?Y/ L/U// E[
U 240 x 240 440 100 240 340 100 240 J H
U 360 x 360 560 | 100 360 460 100 360 :
U400 = 260 600 100 400 360 100 260 b4 =be50+50
U 450 x 450 650 | 100 450 550 100 450
U 500 = 300 700 100 500 400 100 300
U 500 x 220 700/ 100 500 420 100 320
U 500 x 340 700] 100 500 440 100 340
U 500 » 350 700 100 500 450 100 350
U 500 x 370 700 100 500 470 100 370
U 500 = 400 700 100 500 500 100 400
U 540 x 350 740 100 540 450 100 350
U 600 x 600 820 110 600 700| 100 600
£y g FERK HE
avyl)—k 0 ck=18N/mm2 0.650 0.550
0.450 X 0450 0.16 m3
iy e 0.550 10.000 X 2
0.450 X 10.000 X 2 2000 m2
M RC-40 0.750 10.000 750 m2
(t=150)
737 ot 0750 X 0.150  x  10.000 1.1 m3
1250 X 0.550 X 10.000 6.9 m3
8.0 m3
Lz Janl 0.750 X 0.150 X 10.000 1.1 m3
0650 X 0.550 X 10.000 3.6 m3
47 m3
BERL 80 - 4.7 33 m3
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UZEY{aI;# 500 x 300

10 m &H7=Y

. b "
L bl__ B __b1
— REIE
/] E:
4 ' 300 b 0
Y=
(o ck=18N/mm2)
50, b 50
L b4 =h+50+50 {%{E&
URIRH ~TiEE i : - |
1 b bi B h hi H /X[ \H/ 51
U 240 % 240 440 100 240 340 100 240
U 360 x 360 560 100 360 460 100 360 b e
U400 x 260 600 100 400 360 100 260 A
U 450 % 450 650 100 450 550 100 450
U 500 % 300 700 100 500| 400 100| 300
U500 % 320 700 100 500 420 100 320
U 500 % 340 700 100 500 440 100| 340
U 500 x 350 700 100 500 450 | 100 350
U 500 x 370 700 100 500 470 100 370
U 500 % 400 700 100 500 500 100 400
U 540 % 350 740 100 540 450| 100 350
U 600 x 600 820 110 600/ 700 100 600
2™ g FER H=E
avol)—k 0 ck=18N/mm2 0.700 0.400 =
0.500 X 0.300 = 013 m3
Eil g =] 0.400 10.000 X 2
0.300 X 10.000 X 2 = 1400 m2
i) RC-40 0.800 10.000 = 800 m2
(t=150)
R1E T 0800 X 0.150 X  10.000 = 1.2 m3
1300 X 0.400 X 10.000 = 52 m3
= 6.4 m3
%t 0800 X 0.150 X 10.000 = 1.2 m3
0700 X 0.400 X 10.000 = 28 m3
= 40 m3
ERL 6.4 - 4.0 = 24 m3
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UZY{aI;# 500 x 320

10 m &H7=Y

i B 2
- RHIE
|
8
Svoy—t = .
(o ck=18N/mm2)
50, b 50,
L b4=b+50+50 %&*&}
VR &R i i : !
5 S E YT TT] |
U 240 = 240 440 100 240 340 100 240
U 360 x 360 560 100 360 460 100 360 J b b
U400 = 260 60D| 100 400 360 100 260 —
U 450 x 450 650 100 450 550 100 450
U 500 = 300 700 100 500 400 100 300
U 500 x 220 700) 100 500 420 100 320
U 500 x 340 700] 100 500 440 100 340
U 500 » 350 700 100 500 450 100 350
U 500 x 370 700| 100 500 470 100 370
U 500 = 400 700 100 500 500 100 400
U 540 x 350 740 100 540 450 100 350
U 600 x 600 820 110 600 700 100 600
£y g FERK HE
avyl)—k 0 ck=18N/mm2 0.700 0.420 =
0.500 x 0320 = 0.13 m3
iy e 0420 10.000 X 2
0.320 X 10.000 x 2 = 1480 m2
M RC-40 0.800 10.000 = 800 m2
(t=150)
737 ot 0800 X 0.150  x  10.000 = 1.2 m3
1300 X 0.420 X 10.000 = 55 m3
= 6.7 m3
Lz Janl 0800 X 0.150 X 10.000 = 1.2 m3
0.700 X 0.420 X 10.000 = 29 m3
= 41 m3
BERL 6.7 - 4.1 = 26 m3
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UEYEI7E 500 x 340

10 m &H7=Y

" b .
_bl__ B __bl_
\ i mEIE
3.
L ] 300 b 300
LT Y—=F
( o ck=18N/mm2)
50/ b 50
b4=b+50+50 {%&%
BB T _ _ _ - —
L E] b bl B h hi H /87/ H E|
U240 x 240 440 100 | 240 340 100 240 J
U 360 x 360 560 | 100| 360 460 100 360 b s i
U 400 x 260 600 100 400 360 100 260 bé=be50450
U 450 x 450 650 100 | 450 550 100 450
U500 x 300 700 100 500 400 100 300
U 500 » 320 700 100 500 420 100 320
U500 x 340 700 100| 500 440 100 340
U 500 x 350 700 100 500 450 100 350
U500 x 370 700 100| 500 470 100 370
U 500 x 400 700 100| 500| 500 100 400
U 540 x 350 740 100 540| 450| 100 350
U @00 x 600 820 110 600, 700 100 600
2™ g FEX H=E
avol)—k 0 ck=18N/mm2 0.700 0.440 =
0.500 X 0.340 = 0.14 m3
Eil g =] 0.440 10.000 X 2
0.340 X 10.000 X = 1560 m2
i) RC-40 0.800 10.000 = 800 m2
(t=150)
R1E T 0800 X 0.150 X  10.000 = 1.2 m3
1300 X 0.440 X 10.000 = 57 m3
= 6.9 m3
%t 0800 X 0.150 X 10.000 = 1.2 m3
0700 X 0.440 X 10.000 = 3.1 m3
= 43 m3
ERL 69 - 43 = 26 m3
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UZY{aI;# 500 x 350

10 m &H7=Y

b .
bl_ B 2
' EHIE
E. 300 b 200
S el
(o ck=18N/mn2)
50 b 50
bd=b+50+50 | \EER
URMETR  ~TiE% ~ N i s
2] b bl B h hi H /Uf/ /27 ‘|
U 240 x 240 440 100 240 340 100 240
U 360 x 360 | BB0 100 360 460 100 360 d b B
U 400 x 260 | 600 100 400 360 100 260 541150:50
U 450 % 450 650 100 450 550 100 | 450
U 500 % 300 700 100 500] 400] 100 300
U 500 x 320 700 100 500| 420 100 320
U500 % 340 700 100 500 440 100| 340
U 500 = 350 700 100 500 450 100 350
U500 % 370 700 100 500| 470 100| 370
U 500 x 400 700 100 500 500 100| 400
U 540 % 350 740 100 540| 450| 100 350
U 600 % 600 820 110 600/ 700 100 600
2™ g FEX H=E
avol)—k 0 ck=18N/mm2 0.700 X 0.450 =
- 0.500 X 0.350 = 0.14 m3
Eil g =] 0450 X 10.000 X 2
+ 0.350 X 10.000 X 2 = 16.00 m2
i) RC-40 0.800 X 10.000 = 800 m2
(t=150)
R1E T 0800 X 0.150 X  10.000 = 1.2 m3
1300 X 0.450 X 10.000 = 59 m3
= 7.1 m3
%t 0800 X 0.150 X 10.000 = 1.2 m3
0700 X 0.450 X 10.000 = 32 m3
= 44 m3
ERL 7.1 - 4.4 = 2.7 m3
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UZY{aI;# 500 x 370

10 m &H7=Y

. b "
- B
! EHIE
/] E:
s ] 300 b
Y=
(o ck=18N/mm2)
50, b 50
L b4 =h+50+50 {%&4{6‘1
VBRI ~TiEE i : i )
5 b bi B h h H U /U/ Ecl
U 240 % 240 440 100 240 340 100 240
U 360 x 360 560 100 360 460 100 360 b b
U 400 x 260 600 100 400 360 100 260 bA=be50:50
U 450 x 450 650 100 450 550 100 450
U 500 x 300 700 100 500| 400 100| 300
U 500 x 320 700 100 500 420 100 320
U 500 % 340 700 100 500 440 100| 340
U 500 x 350 700 100 500 450 | 100 350
U 500 x 370 700 100 500 470 100 370
U 500 % 400 700 100 500 500 100 400
U 540 x 350 740 100 540 450| 100 350
U 600 x 600 820 110 600/ 700 100 600
2™ g FEX H=E
avol)—k 0 ck=18N/mm2 0.700 0.470 =
0.500 X 0.370 = 0.14 m3
Eil g =] 0470 10.000 X 2
0.370 X 10.000 X 2 = 1680 m2
i) RC-40 0.800 10.000 = 800 m2
(t=150)
R1E T 0800 X 0.150 X  10.000 = 1.2 m3
1300 X 0.470 X 10.000 = 6.1 m3
= 7.3 m3
%t 0800 X 0.150 X 10.000 = 1.2 m3
0700 X 0.470 X 10.000 = 3.3 m3
= 45 m3
ERL 73 - 45 = 28 m3
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UZYEI7#E 500 x 400

10 m &H7=Y

" b =
_b1__ B o
- RHIE
.92.
:|“/’,7 U=k = 2 2
(o ck=18N/mm2)
50 b 50
bd =b+50+50 (%{;ﬁ_ﬁfg)
UBLRIR  <HiExk i i i v
W3l b b1 B h hi H ’//2//8:/ ‘W/ E
U240 x 240 440 100 240 | 340 100 240
U 360 x 360 560 100 360 460 100 360
U 400 x 260 600 100 400 360 100 260 m — -
U 450 x 450 650 100 450 550 100 450 S
U500 x 300 700 100 500 400/ 100 300
U500 x 320 700 100 500 420 100 320
U 500 x 340 700 100 500 440 100 340
U 500 x 350 700 100 500 450 100 350
U 500 x 370 700 100 500 470 100 370
U 500 x 400 700 100 500 500 100 400
U 540 x 350 740 100 540 450| 100 350
U 600 x 600 820 110 600, 700 100 600
2™ g FER H=E
avol)—k 0 ck=18N/mm2 0.700 0.500 =
0.500 X 0.400 = 0.15 m3
Eil g =] 0.500 10.000 X 2
0.400 X 10.000 X 2 = 1800 m2
i) RC-40 0.800 10.000 = 800 m2
(t=150)
R1E T 0800 X 0.150 X  10.000 = 1.2 m3
1300 X 0.500 X 10.000 = 6.5 m3
= 7.7 m3
%t 0800 X 0.150 X 10.000 = 1.2 m3
0700 X 0.500 X 10.000 = 35 m3
= 47 m3
ERL 77 - 47 = 30 m3

121



LI0k8 §30 K

UEYEI;E 540x 350

10 m &H7=Y

b .
b1 B :
| {EHIE
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] 300 b 300
AP U—F
(o ck=18N/mm2)
50 b 50
L bd=b+50+50 %&*{;ﬁ
UBIRIGE  ~HiER ; i ) ; 7 2
5| b | 61 | B | h | W | H U \U/ g
U 240 = 240 440 100 240 340 100 240
U 360 x 360 560 100 360 460 100 360 e &
U 400 x 260 600 100 400 360 100 260 b =bi5050
U 450 x 450 650 | 100 450 550 100 450
U 500 x 300 700 100 500 400 100 300
U 500 x 320 700 100 500 420 100 320
U500 x 340 700 100 500 440 100 340
U 500 x 350 700 100 500 450 100 350
U 500 x 370 700 100 500 470 100 370
U500 x 400 700 100] 500 00| 100 400
U 540 x 350 740 100 540 450 100 350
U 600 x 600 820 110 600 700 100 600
2™ g FEX =
avol)—k 0 ck=18N/mm2 0.740 0.450 =
0.540 X 0350 = 0.14 m3
Eil g =] 0450 10.000 X 2
0.350 X 10.000 X 2 = 16.00 m2
M RC-40 0.840 10.000 = 840 m2
(t=150)
R1E T 0840 X 0.150 X  10.000 = 1.3 m3
1340 X 0.450 X 10.000 = 6.0 m3
= 7.3 m3
%t 0840 x 0.150 X 10.000 = 1.3 m3
0740 X 0.450 X 10.000 = 3.3 m3
= 46 m3
ERL 73 - 46 = 2.7 m3
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UBIRI® T } ) i
5 b | bl 8 h | hi H /U/ /U/ Ei
U240 x 240 | 440 100 240 340 100 240
U 360 = 3260 560 100 360 460 100 360 = i
U 400 x 260 600 100 400 360 100 260 BA=bIE0ISD
U 450 x 450 650 | 100 450 550 | 100 450
U 500 = 300 700 100 500 400 100 300
U 500 x 320 700] 100 500 420 100 320
U 500 x 340 700] 100 500 440 100 340
U 500 x 350 700 100 500 450 | 100 350
U 500 x 370 700| 1000 §00| 470 100 370
U 500 x 400 700 100 500 500 100 400
U 540 x 350 740 100 540 450 100 350
U 600 x 600 820/ 110 600 700 100 600
£y g FERK e
avyl)—k 0 ck=18N/mm2 0820 X 0.700 =
- 0.600 X 0.600 = 021 m3
iy e 0.700 X 10.000 X 2
+ 0.600 X 10.000 X 2 = 26.00 m2
EBEM RC-40 0.920 X 10000 = 920 m2
(t=150)
737 ot 0920 X 0.150  x  10.000 = 1.4 m3
1420 X 0.700 X 10.000 = 99 m3
= 113 m3
Lz Janl 0920 X 0.150 X 10.000 = 1.4 m3
0820 X 0.700 X 10.000 = 57 m3
= 71 m3
HEREL 13 - 71 = 42 m3
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i e KESMFERE  A=0. 250m2
Ex i FER HE
PUE! I PU 600 x 600 10.000 2.000 = 50 1A
EILSIL 1:3 0.752 0.020 x 10.000 = 0.15 m3
O 2)—k |0 ck=18N/mm?2 0.952 0.100 x 10.000 = 095 m3
pily 0.100 10.000  x 2 = 200 m2
EEEH RC-40 0952 1.000 x 10.000 = 952 m2
(t=150)
JL—FooE 600 X 600F8 T-25 10.000 0.500 = 200 #&
Elcof=t 10.000 0.500 = 20.0 &
R T 0952 X 0.150 10.000 = 14 m3
1500 x 0.445 10.000 = 6.7 m3
= 81 m3
Bt 0952 X 0.250 10.000 = 24 m3
0.259 10.000 = 26 m3
= 50 m3
HEREL 8.1 - 5.0 = 31 m3
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@159 X t1.2 X L65
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$18% p8.5%t16
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A Z548)3% L=59.00m {400 X 500 L=2000 ( 32.000 + 26000 ) .~ 2.000 = 290 &
400 x 500 L=1000 = 1.0 &
T Z5813% L=19.49m {400 X 600 L=2000 18.000 /  2.000 = 9.0 &
400 X 600 L=1490 = 1.0 &
MEIL Y EHE XIBAR (FRESHE
B Z={8;%400 X 400 ( 0064 + 0051 )/ 2 = 0.058 m
BT Z5{81i%400 X 500 ( ( 0151 + 0149 ) / 2 x 1310
+ (0149 + 0076 )/ 2 x 19.640
+ (0076 + 0051 )/ 2 x 12.050
+ (0051 + 0063 )/ 2 x 8120
+ (0063 + 0108 ) / 2 x 7970
+ ( 0.108 + 0121 ) / 2 x 9910 )
/ 59.000 = 0.092 m
BT Z5{81i%400 X 600 ( ( 0151 + 0135 ) / 2 x 7.740
+ (0135 + 0151 ) / 2 x 11.750 )
/ 19.490 = 0.143 m
REIL Y —k
B[ 248175400 X 400 | 0 ck=18N/mm2 0.058 x  0.400 x  8.000 = 019 m3
B[ 248175400 X500 | 0 ck=18N/mm2 0.092 x  0.400 x  59.000 = 217 m3
B[ 48175400 X600 | 0" ck=18N/mm2 0.143 x  0.400 x  19.490 = 111 m3
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HEa ) —k
A IE400 X400 | 0 ck=18N,/mm2 0.700 x 0050 x 8000 = 028 m3
A IE400 X500 | 0 ck=18N,/mm2 0.700 x 0050 x 59.000 = 207 m3
A IE400 X600 | 0 ck=18N,/mm2 0.700 x 0050 x 19.490 = 068 m3
pill
A2 155400 X 400 0.050 x 8000 «x 2 = 080 m2
A2 55400 X 500 0.050 x 59.000 x 2 = 590 m2
A2 5% 400 X 600 0.050 x 19490 «x 2 = 195 m2
EHEEH (t=100)
L EE400 X400 |RC-40 0.800 x  8.000 = 640 m2
2400 X500 |RC-40 0.800 x  59.000 = 4720 m2
2400 X600 |RC-40 0.800 x  19.490 = 1559 m2
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- 120 R
— 300, 600 300 ‘- Y (i
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g e : B R 5 ‘ i, 2
r ‘ j\' o8 E | | - B =l
=Q 700 ;h N sb 700 5 h EJA 700 80 N
800 800 800 |
¥ gLy HER HE
PRYE
ETZE{85%400 x 400 T 0.800 0100 + 1.200 0.090 )
8.000 = 15 m3
BT ZE{8;%400 x 500 T 0.800 0100 + 1.200 0.190 )
59.000 = 182 m3
BT ZE{815%400 X 600 T 0.800 0100 + 1.200 0.290 )
19.490 = 8.3 m3
= = 28.0 m3
: e
BT ZE 855400 X 400 0.800 0100 + 0.700 0.100
0.600 0040 ) x 8000 = 14 m3
BT 25 {85%400 X 500 0.800 0100 + 0.700 0.100
0.600 0.140 ) x 59.000 = 138 m3
BT ZE{815%400 X 600 0.800 0100 + 0.700 0.100
0.600 0240 ) x 19.490 = 57 m3
= = 20.9 m3
#HRL 28.0 - 209 = 7.1 m3
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TJOo = FOOx 700 TO0 JOO | 1000 150 200 | 1000 700 800 100 an
T00 = T00x 800 T00 800 | 1000 150 800 | 1000 700 00 100 a0
800 = 800= 000 | 800 @00 G100 w0 @00 1100 200 000 100 an
2% HE-5L5 FER o=
SKMIEBRIEZ LY
CofZfR=(F 1) 0.220 X 0.150 = 0033 (m3)
B E(FEY) 0.220 X 2 = 0439 (m2)
avyl—k 0 ck=18N/mm2 0.800 x  0.800 x 0700 = 0.448
-0.500 x 0500 x  0.535 = -0.134
-0.620 x 0620 x  0.065 = -0.025
B O ER4E R = -0.033
H 0.26 m3
pily 0.800 x  0.700 X 4 = 2.240
0.500 x 0535 X 4 = 1.070
0.620 x 0065 X 4 = 0.161
B O ER4E R = -0.439
H 3.03 m2
E RC-40 t=150 0.900 x 0900 = 0.81 m3
H 0.81 m3
JL—F25%E  |500x 5008 T-25 1 = 1.0 ¥
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FEHIE
. 300 . b . 300
& | |
it W |
E
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50 b _50/_
b4 =b+50+50
e HE-5L5 FER o=
R T 0.900 x 0900 X  0.150 0.122
1.400 X 1400 X 0180 0.353
0.48 m3
Bt 0.900 X 0.900 X 0150 0.122
0.800 X  0.800 X 0180 0.115
0.24 m3
HEREL 0.480 - 0240 0.240 m3
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TJOO = TG 700 00 F00 1000 150 200 1000 700 200 100 a0
J00 = T00:x 300 100 800 1000 150 800 1000 F00 G900 100 a0
00 = B800= 900 800 ooo | 100 150 [2]0l4] | 100 800 | 00 100 an
e HE-5L5 FER o=
SKMIEBRIEZ LY
CofZfR=(F 1) 0.256 X 0.150 = 0.038 (m3)
BERECEY) 0.256 X 2 = 0513 (m2)
avsy—k 0 ck=18N/mm2 0.900 x  0.900 x 0800 = 0.648
-0.600 x 0600 x  0.625 = -0.225
-0.720 x 0720 x  0.075 = -0.039
B O ER4E R = -0.038
H 0.35 m3
pily 0.900 x 0800 X 4 = 2.880
0.600 x 0625 X 4 = 1.500
0.720 x 0075 X 4 = 0.216
B O ER4E R = -0.513
H 408 m2
E RC-40 t=150 1.000 x  1.000 = 1.00 m3
H 1.00 m3
JL—F0%E  |600x 6008 T-25 1 = 1.0 ¥
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1 &RrEY

FEHIE
. 300 . b 300
ks | |
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E
piid
T o
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b4 =b+50+50
e HE-5L5 FER o=
R T 1.000 x  1.000 X  0.150 0.150
1.500 x 1500 X 0280 0.630
0.78 m3
Bt 1.000 x 1000 X 0150 0.150
0.900 X 0.900 X 0280 0.227
0.38 m3
HREL 0.780 - 0380 0.400 m3
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TJOO = TOOx 700 TO0 JOO | 1000 150 800 1000 700 800 100 an
JOO = J00x BOD 700 800 | 1000 150 800 | 1000 700 00 100 a0
00 = 800 900 200 Q00 1100 160 Qa0 | 1100 200 1000 100 a0
e HE-5L5 FER o=
SKMIEBRIEZ LY
CofZfR=(F 1) 0.270 X 0.150 = 0041 (m3)
BRERECED) 0.270 x 2 = 0540 (m2)
avsy—k 0 ck=18N/mm2 1.000 x  1.000 x 0700 = 0.700
-0.700 x 0700 x 0510 = -0.250
-0.820 x 0820 x  0.090 = -0.061
B O ER4E R = -0.041
B 0.35 m3
pily 1.000 x 0700 X 4 = 2.800
0.700 x 0510 X 4 = 1.428
0.820 x  0.090 X 4 = 0.295
B O ER4E R = -0.540
B 398 m2
E RC-40 t=150 1.100 x  1.100 = 1.21 m3
B 1.21 m3
JL—F5%E |700x 7008 T-25 1 = 1.0 ¥
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& |l 1]
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e HE-5L5 FER HE
R T 1.100 X  1.100 X  0.150 = 0.182
1.600 x 1600 X 0180 = 0.461
B 0.64 m3
Bt 1.100 x 1.100 X 0150 = 0.182
1.000 x 1000 X 0180 = 0.180
B 0.36 m3
HEL 0.640 - 0360 = 0.280 m3
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e HE-5L5 FER o=
SKMIEBRIEZ LY
CofZfR=(F 1) 0.284 X 0.150 = 0.043 (m3)
BERECEY) 0.284 X 2 = 0567 (m2)
avsy—k 0 ck=18N/mm2 1.000 x  1.000 x 0800 = 0.800
-0.700 x 0700 x 0.610 = -0.299
-0.820 x 0820 x  0.090 = -0.061
B O ER4E R = -0.043
H 0.40 m3
pily 1.000 x 0800 X 4 = 3.200
0.700 x 0610 X 4 = 1.708
0.820 x 0090 X 4 = 0.295
B O ER4E R = -0.567
H 464 m2
E RC-40 t=150 1.100 x  1.100 = 1.21 m3
H 1.21 m3
JL—F5%E |700x 7008 T-25 1 = 1.0 ¥
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{2 HIE
- 300 . b .. 300 .
g L yla sl |
[
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L
50 b 50
hd =k +50+50
e HE-5L5 FER o=
R T 1.100 X  1.100 X  0.150 = 0.182
1.600 x 1600 X 0280 = 0.717
H 0.90 m3
Bt 1.100 x 1100 X 0150 = 0.182
1.000 x 1000 X 0280 = 0.280
H 0.46 m3
HEREL 0.900 - 0460 = 0.440 m3

138



EK#HA 700 % 700 x 800 1 BFLY

S
. R
. : . ]
b E CH
. B L e S
ST B VEE
|
- T "
AR 4-' ] I? __i
| REREt T
=
S . T
= I : v Z
1 o et
) b
ad L Bo-hk

i oD

.

ERMIA TR ,
EAl B H b b1 o 1 L h h1 h2

500 = 50 = GO0 500 600 800 150 600 800 500 700 100 65
600 x 600 700 600 FO0 800 150 FO0 a00 600 a00 100 h

TO0 = 700> GO0 | 700 €00| 1000 | 150| 8Q0| 1000 OO 700 100 90
700 % 700% 00 | 700 00| 1000| 150| 00| 1000 700 800 100 o
800 = 80D= 000 | B00| Q00| II0D| (50| Q00| 1100 800 1000 100 a0
£ Rig-6L5 FER HE
SEKRBIZERFTEELY
CotZ R E(F1Y) 0.419 X 0150 =  0.063 (m3)
BRERE(TEY) 0.419 x 2 = 0839 (m2)
aryl)—k 0 ck=18N/mm2 1.000 x 1000 x 0900 = 0.900
-0.700 x 0700 x 0.710 = -0.348
-0.820 x 0820 x 0.090 = -0.061
B O &R RR = -0.063
B 0.43 m3
Eilp o 1.000 x 0800  «x 4 = 3.600
0.700 x 0710  «x 4 = 1.988
0.820 x 0090  «x 4 = 0.295
B O &R 2 RR = -0.839
B 504 m2
M RC-40 t=150 1.100 x  1.100 = 121 m3
B 121 m3
JL—F2J%&E |700x 700/ T-25 1 = 1.0 &
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50 b 50
b4 =b+50+50
e HE-5L5 FER o=
R T 1.100 X  1.100 X  0.150 0.182
1.600 x 1600 X 0.380 0.973
1.16 m3
Bt 1.100 x 1100 X 0150 0.182
1.000 x 1000 X 0.380 0.380
0.56 m3
HEREL 1.160 - 0560 0.600 m3
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BRERECED) 0.685 x 2 = 1369 (m2)
avyy—k 0 ck=18N/mm2 1.100 x 1100 x 1000 = 1210
-0.800 x 0800 x 0810 = -0.518
-0.920 x 0920 x  0.090 = -0.076
EamE: g ec] =3 = -0.103
B 051 m3
B 1.100 x  1.000 X 4 = 4.400
0.800 x 0810 X 4 = 2.592
0.920 x 0090 X 4 = 0.331
EamE: g2 =3 = -1.369
B 595 m2
i RC-40 t=150 1.200 x 1200 = 144 m3
B 144 m3
JUL—F2J%E |800x 800/ T-25 1 = 1.0 &
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1.700 x 1700 X 0480 = 1.387
H 1.60 m3
Bt 1.200 x 1200 X 0150 = 0.216
1.100 x 1100 X 0480 = 0.581
H 0.80 m3
HEREL 1.600 - 0800 = 0.800 m3
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& 3008 500 x 500x 600 500 | 600 800 | 150 600 800 | 500 700| 100 65
$350, p400F 600 x 600x 700 600 | 700 900| 150 700 900 | 600 800| 100 75
$500F8 700 x 700x 800 700 800 1000 | 150 800 1000| 700 900 | 100 90
Pu 6008 800 x 800x 900 800 | 900 1100| 150 900 1100| 800 1000| 100 90
e HE-5L5 FER H=
SKMIEBRIEZ LY
CofZfR=(F 1) 0.142 X 0.150 = 0.021 (m3)
BRERECED) 0.142 x = 0284 (m2)
avsy—k 0 ck=18N/mm2 0.800 x  0.800 x 0700 = 0.448
-0.500 x 0500 x 0535 = -0.134
-0.620 x 0620 x  0.065 = -0.025
B O ER4E R = -0.021
B 0.27 m3
pily 0.800 x  0.700 X 4 = 2.240
0.500 x 0535 X 4 = 1.070
0.620 x 0065 X 4 = 0.161
B O ER4E R = -0.284
B 319 m2
E RC-40 t=150 0.900 x 0900 = 0.81 m3
B 0.81 m3
JL—F25%E  |500x 5008 T-25 1 = 1.0 ¥
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&£k #B 500 % 500 X 600

1 &RrEY

&1 T=1I1Ed
300 i b 300 &
i : :
=
_/" 1 7 ""./"
i P
_50_ b §:00
b4 =h+b0+50
e HE-5L5 FER o=
R T 0.900 x 0900 X  0.150 = 0.122
1.400 X 1400 X 0180 = 0.353
H 0.48 m3
Bt 0.900 X 0.900 X 0150 = 0.122
0.800 X  0.800 X 0180 = 0.115
H 0.24 m3
HEREL 0.480 - 0240 = 0.240 m3
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g k#tB 600 % 600 % 700 1 Sy
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= - :L/"C/ii/ - \ry 2
ook BASnmE
b h kS R
VRE 400
[ BN Tl
£k#B TiEE _
| B H b b1 c I L h hi h2
300/ 500 x 500x 600 500 600 B00| 150 600 800 | 500 700 100 65
$350, 400 600 x 600x 700 600 700 900| 150 700 900 | 600 800 | 100 75
$500F8 700 x F00x 800 700 | 800 1000 | 150 800 1000| 700 900 | 100 90
Pu 600FH 800 x 800x 900 800 | 900 1100| 150 900 1100| 800 1000| 100 90
e HE-5L5 FER o=
SKMIEBRIEZ LY
CofZfR=(F 1) 0.249 X 0.150 = 0.037 (m3)
BERECEY) 0.249 X 2 = 0497 (m2)
avsy—k 0 ck=18N/mm2 0.900 x  0.900 x 0800 = 0.648
-0.600 x 0600 x  0.625 = -0.225
-0.720 x 0720 x  0.075 = -0.039
B O ER4E R = -0.037
H 0.35 m3
pily 0.900 x 0800 X 4 = 2.880
0.600 x 0625 X 4 = 1.500
0.720 x 0075 X 4 = 0.216
B O ER4E R = -0.497
H 410 m2
E RC-40 t=150 1.000 x  1.000 = 1.00 m3
H 1.00 m3
JL—F0%E  |600x 6008 T-25 1 = 1.0 ¥
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&£ Kk#B 600 % 600 x 700

1 &RrEY

FEHIE
. 300 . b . 300
5 l 1
it W o
E
piid
T o
50 b 50
b4 =b+50+50
e HE-5L5 FER o=
R T 1.000 x  1.000 X  0.150 0.150
1.500 x 1500 X 0280 0.630
0.78 m3
Bt 1.000 x 1000 X 0150 0.150
0.900 X 0.900 X 0280 0.227
0.38 m3
HREL 0.780 - 0380 0.400 m3
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&£ Kk#B 700 % 700 x 800
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VRE 400
[ BN Tl
£kB TEE _
2 B H b b1 c I L h h1 h2
300/ 500 x 500x 600 500/ 600 800| 150 600 800| 500 700| 100 65
$350, 400/ 600 x 600x 700 | 600 700 | 900 150 ‘ 700 900 | 600 800 _1_93__‘ 7%
$500F8 700 x 700x 800 700, 800 1000, 1501 800 1000, 700 900 100 g0
Pu 600FH 800 x 800x 900 \ 800 | 900 1100\ 150 900 noo\ 800 1000\ 100 90
e HE-5L5 FER o=
SKMIEBRIEZ LY
CofZfR=(F 1) 0.410 X 0.150 = 0.062 (m3)
BERECEY) 0.410 X 2 = 0820 (m2)
avsy—k 0 ck=18N/mm2 1.000 x  1.000 x  0.900 = 0.900
-0.700 x 0700 x  0.710 = -0.348
-0.820 x 0820 x  0.090 = -0.061
B O ER4E R = -0.062
H 0.43 m3
pily 1.000 x 0900 X 4 = 3.600
0.700 x 0710 X 4 = 1.988
0.820 x 0090 X 4 = 0.295
B O ER4E R = -0.820
H 5.06 m2
E RC-40 t=150 1.100 x  1.100 = 1.21 m3
H 1.21 m3
JL—F5%E |700x 7008 T-25 1 = 1.0 ¥




&£ Kk#B 700 % 700 x 800

1 &RrEY

FEHIE
. b . 300
5 i B
i W [P
1
piid
Yamar
/_::- /' :
50 b _50/_
. hd =k +50+50 J
e HE-5L5 FER o=
R T 1.100 X  1.100 X  0.150 0.182
1.600 x 1600 X 0.380 0.973
1.16 m3
Bt 1.100 x 1100 X 0150 0.182
1.000 x 1000 X 0.380 0.380
0.56 m3
HEREL 1.160 - 0560 0.600 m3




&£k #B 800 % 800 x 900

1 &RrEY

FEED
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£kB TEE
2 B H b b1 c I L h hi h2
300/ 500 x 500x 600 500/ 600 800| 150 600 800| 500 700| 100 65
$350, 400/ 600 x 600x 700 | 600 700 | 900 150 ‘ 700 900 | 600 800 _1_90_‘ 7%
$500F8 700 x 700x 800 700, 800 1000, 1501 800 1000, 700 900 100 g0
Pu 600FH 800 x 800x 900 \ 800 | 900 1100\ 150 900 noo\ 800 1000\ 100 90
e HE-5L5 FER o=
SKMIEBRIEZ LY
CofZfR=(F 1) 0.827 X 0.150 = 0.124 (m3)
B E(FEY) 0.827 X 2 = 1.654 (m2)
avsy—k 0 ck=18N/mm2 1.100 x  1.100 x 1000 = 1.210
-0.800 x 0800 x  0.810 = -0.518
-0.920 x 0920 x  0.090 = -0.076
B O ER4E R = -0.124
H 0.49 m3
pily 1.100 x 1000 X 4 = 4.400
0.800 x 0810 X 4 = 2.592
0.920 x 0090 X 4 = 0.331
B O ER4E R = -1.654
H 5.67 m2
E RC-40 t=150 1.200 x 1200 = 1.44 m3
H 1.44 m3
JL—F25%E |800x800M T-25 1 = 1.0 ¥




£ k#B 800 % 800 x 900 1 BFLY

A=
300 . b - 300
ﬁ __;‘.“1.:" ™ U
b4
%
S
J ,/"ir
_50_ b _60f
| b =h+50+50 )
e HE-5L5 FER o=
R T 1.200 x 1200 X  0.150 = 0.216
1.700 x 1700 X 0480 = 1.387
H 1.60 m3
Bt 1.200 x 1200 X 0150 = 0.216
1.100 x 1100 X 0480 = 0.581
H 0.80 m3

HEREL 1.600 - 0.800 = 0.800 m3
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